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83+792Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%; 3 3 3 ΒΑΧΦΓ3Χ ΒΑΧ=ΦΓ3Χ ?Α∆∆ΦΓ3= 3 3 3 ∆ΑΒΦΓ3Χ =Α∆ΒΦΓ3Χ ;Α=ΧΦΓ3=

83,192Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%? 2Α>≅ΦΓ3≅ =Α=ΦΓ3= ;Α;ΦΓ3= ΒΑ2?ΦΓ3= ;Α>?ΦΓ3= ≅Α∆ΧΦΓ3= ;Α?2ΦΓ3≅ ΧΑ∆>ΦΓ3= ?Α?ΒΦΓ3= ΒΑΒ?ΦΓ3= ΒΑ?ΒΦΓ3= ;Α=?ΦΓ3=

83+792,1:;,1<=+7<>,1<2?+7<2≅+7<?3,1 3Α333;Χ= 3Α333>3≅ 3Α333Χ>≅ 3Α333?Χ∆ >Α;≅ΦΓ3= =Α≅∆ΦΓ3= ?Α≅>ΦΓ3= ;Α?∆ΦΓ3= 3Α333=Β2 =Α∆;ΦΓ3= ΧΑ2?ΦΓ3= 2ΑΧ=ΦΓ3=

83+792,1:;,1<=,1<>+7<2?,1<2≅,1<?3,1 3Α333∆3> 3Α33?2=Β 3Α333=≅≅ 3Α3322;∆ ?ΑΧ?ΦΓ3= ?Α32ΦΓ3= 3Α333≅=2 3Α333Χ3= 3Α333?Β≅ 3Α333?;; ?ΑΧ2ΦΓ3= ?ΑΒ2ΦΓ3=

83+792Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3∋%? 3 3 3 =Α2=ΦΓ3≅ ?ΑΒΦΓ3Χ 2Α;>ΦΓ3= 3 3 3 2Α=ΒΦΓ3≅ =Α>>ΦΓ3Χ 2ΑΧ=ΦΓ3=

83+792,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%? ;Α∆2ΦΓ3= =Α∆?ΦΓ3= 3Α3332Χ= 3Α33323? 2Α∆>ΦΓ3= ΒΑ>≅ΦΓ3= 2Α∆;ΦΓ3= ;ΑΧΒΦΓ3≅ 3Α33322; ;ΑΧ;ΦΓ3= ?Α≅=ΦΓ3= ?Α2∆ΦΓ3=

83,192,1:;,1<=+7<>,1<2?+7<2≅,1<?3∋%2 ?Α;ΦΓ3Χ 3 3 3 3 ∆Α≅>ΦΓ3≅ ;Α∆>ΦΓ3Χ 3 3 3 3 2Α∆ΒΦΓ3=

83,192,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%2 ;Α3ΧΦΓ3= 3Α33322Β ΧΑΒ≅ΦΓ3= ΒΑ;≅ΦΓ3= ΒΑ=ΒΦΓ3= ;Α≅≅ΦΓ3= 2Α=ΧΦΓ3= ΒΑ>ΒΦΓ3= =ΑΧ?ΦΓ3= ΧΑΧ2ΦΓ3≅ ;Α;ΦΓ3= 2Α2≅ΦΓ3=

83+792,1:;,1<=,1<>+7<2?+7<2≅+7<?3,1 3Α333?∆; 3Α333>Β 3Α332Β?; 3Α333Β=≅ ΒΑ?ΧΦΓ3= ΒΑ∆ΒΦΓ3= 3Α33323Β 3Α3332≅Χ 3Α332?;Β 3Α333?3? ΒΑ2>ΦΓ3= ?Α>∆ΦΓ3=

83,192,1:;,1<=,1<>,1<2?,1<2≅+7<?3∋%? ΒΑ?ΦΓ3Χ ΒΑ=ΒΦΓ3= =Α>ΧΦΓ3= ∆Α≅∆ΦΓ3= >Α>;ΦΓ3≅ ?Α∆?ΦΓ3= ΧΑ?ΧΦΓ3Χ ΒΑ=ΧΦΓ3= 3Α3332;Β 3Α33322Χ 2ΑΧΒΦΓ3= ΧΑ=ΧΦΓ3≅

83,192,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%2 ≅Α3=ΦΓ3≅ >Α≅≅ΦΓ3≅ ∆Α=≅ΦΓ3≅ ;Α3>ΦΓ3= ΒΑ3ΧΦΓ3≅ ?ΑΒΦΓ3= ?ΑΧ=ΦΓ3≅ 2Α3?ΦΓ3≅ ΧΑ≅=ΦΓ3≅ 2Α;>ΦΓ3= ;Α>ΧΦΓ3≅ 2ΑΧ;ΦΓ3=

83,192,1:;,1<=,1<>,1<2?+7<2≅+7<?3∋%; 3 ΒΑ;=ΦΓ3= ?ΑΧ≅ΦΓ3≅ ΒΑ3?ΦΓ3= ΒΑ=ΧΦΓ3Χ ΒΑ∆?ΦΓ3= 3 ;ΑΒΧΦΓ3= ≅ΑΧ;ΦΓ3≅ ;Α=ΒΦΓ3= ΧΑ3∆ΦΓ3Χ ;Α≅>ΦΓ3=

83+792,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%? ;Α2;ΦΓ3Χ ∆Α∆=ΦΓ3≅ 2Α;;ΦΓ3Χ ;ΑΒ;ΦΓ3= ;ΑΧ;ΦΓ3≅ ∆Α3?ΦΓ3≅ =Α3>ΦΓ3Χ >ΑΒ2ΦΓ3≅ ?Α;ΧΦΓ3Χ ΒΑ32ΦΓ3= ≅Α∆ΧΦΓ3≅ 2Α2ΦΓ3=

83+792Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%? 3 ≅Α?=ΦΓ3= 2Α?∆ΦΓ3≅ 3Α333∆=∆ ;Α3≅ΦΓ3≅ =ΑΒΧΦΓ3≅ 3 3Α33323> 2ΑΒ≅ΦΓ3≅ 3Α3323;2 =Α>?ΦΓ3≅ 2Α3∆ΦΓ3=

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%? 2Α;?ΦΓ3≅ 3 2Α;;ΦΓ3≅ ?Α3;ΦΓ3= ≅Α=∆ΦΓ3≅ 2Α=>ΦΓ3= ΧΑ2ΦΓ3Χ 3 2Α?ΒΦΓ3≅ 2ΑΒ≅ΦΓ3= =ΦΓ3≅ 2Α2≅ΦΓ3=

83,192,1:;,1<=,1<>+7<2?,1<2≅+7<?3∋%? 2Α;ΦΓ3= ΧΑ=?ΦΓ3= 3Α33322= 3Α33322> 2Α2=ΦΓ3≅ =Α32ΦΓ3= ?Α3ΧΦΓ3= ∆Α2∆ΦΓ3= 3Α3332?> 3Α3332;= ?Α>?ΦΓ3≅ >Α2;ΦΓ3=

83,192Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%? 2ΑΧΦΓ3≅ ΧΑ3∆ΦΓ3= 2Α>ΧΦΓ3= ?Α>∆ΦΓ3= ?Α??ΦΓ3= ?Α==ΦΓ3= ?Α∆ΒΦΓ3≅ 2Α∆2ΦΓ3= ?Α2?ΦΓ3= ;Α=ΒΦΓ3= ?Α>≅ΦΓ3= ΒΑ>ΧΦΓ3≅

83+792,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%? ?Α;≅ΦΓ3≅ ΒΑ∆≅ΦΓ3= 2Α3?ΦΓ3= 2Α∆=ΦΓ3= ?Α?;ΦΓ3Χ 2Α;=ΦΓ3= ?Α2=ΦΓ3≅ 2Α==ΦΓ3= 2Α=>ΦΓ3= ;ΑΒΦΓ3= 2ΑΧΧΦΓ3Χ ΧΑ==ΦΓ3≅

83+792,1:;,1<=,1<>+7<2?,1<2≅+7<?3∋%; ;Α≅ΧΦΓ3> 3 =Α3∆ΦΓ3≅ ∆Α?ΦΓ3= ?Α3ΧΦΓ3Χ =Α>>ΦΓ3≅ ;Α?2ΦΓ3> 3 =ΑΒ=ΦΓ3≅ =Α>;ΦΓ3= ?ΑΒ2ΦΓ3Χ >Α?ΒΦΓ3≅

83,192,1:;,1<=,1<>,1<2?,1<2≅,1<?3∋%2 ≅Α?;ΦΓ3≅ 3Α3332=Χ 3Α33?;?; ΒΑ=2ΦΓ3= 3Α332Β> 3Α3332Β; 2Α3?ΦΓ3= >Α?∆ΦΓ3= 3Α33;;>; ?ΑΧΦΓ3= 3Α332?2∆ 3Α3332;Β

83+792Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%? =Α;?ΦΓ3= ?ΦΓ3> ≅Α3ΒΦΓ3= =Α3>ΦΓ3≅ ≅Α?ΧΦΓ3= ΒΑΧΒΦΓ3= >Α≅∆ΦΓ3≅ ;ΑΒ≅ΦΓ3> ?Α3=ΦΓ3= ΒΑ3?ΦΓ3≅ 3Α3332Β ;Α?ΒΦΓ3=

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%? ;Α2;ΦΓ3Χ 3 ΒΑΒ>ΦΓ3≅ =Α∆ΒΦΓ3≅ 2ΑΧΧΦΓ3≅ 2ΑΒ=ΦΓ3= ΧΑ?;ΦΓ3> 3 2Α3?ΦΓ3= ≅Α>≅ΦΓ3≅ ?ΑΒ≅ΦΓ3≅ 2Α∆>ΦΓ3≅

83,192,1:;,1<=+7<>,1<2?+7<2≅+7<?3∋%? 2Α;ΧΦΓ3Χ 2Α≅2ΦΓ3= 2Α=ΒΦΓ3≅ 2ΑΒΧΦΓ3≅ 2Α3?ΦΓ3≅ =ΑΧ>ΦΓ3≅ 2Α;ΦΓ3Χ ?Α;ΧΦΓ3= ;Α3ΒΦΓ3≅ ΧΑΧ?ΦΓ3Χ ΧΑ2>ΦΓ3Χ ;Α∆2ΦΓ3≅

83+792,1:;,1<=,1<>,1<2?,1<2≅+7<?3∋%; >Α>2ΦΓ3= 3Α33322∆ 3Α333?≅≅ 3Α33?;=; 3Α333Β2= ?Α?ΦΓ3= =Α∆≅ΦΓ3= ;ΦΓ3= 3Α33323≅ 3Α333≅∆> 3Α333= 2Α≅≅ΦΓ3=

83+792,1:;,1<=+7<>+7<2?+7<2≅+7<?3,1 =Α>>ΦΓ3≅ ;Α;ΧΦΓ3= ≅Α>=ΦΓ3≅ 2Α>≅ΦΓ3= >Α?=ΦΓ3≅ >ΑΧΧΦΓ3≅ ?ΑΧ∆ΦΓ3≅ ?Α2=ΦΓ3= ΒΑ∆?ΦΓ3≅ ΒΑ≅ΧΦΓ3≅ 2ΑΒ2ΦΓ3= ?Α3∆ΦΓ3≅

83,192,1:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%? ≅Α2;ΦΓ3Χ 3 ∆Α=ΦΓ3> 2Α∆=ΦΓ3≅ ∆ΦΓ3> =Α3>ΦΓ3≅ ∆Α>=ΦΓ3Χ 3 2Α=>ΦΓ3Χ ?Α;?ΦΓ3≅ 2Α≅=ΦΓ3Χ =Α≅≅ΦΓ3≅

83+792,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%2 ∆Α;;ΦΓ3> ?Α=>ΦΓ3≅ 2Α2ΦΓ3Χ 2ΑΧΦΓ3= 2Α>;ΦΓ3Χ >Α=∆ΦΓ3≅ ≅Α≅≅ΦΓ3> 2Α?ΒΦΓ3≅ 2Α?≅ΦΓ3Χ ∆ΑΒΒΦΓ3≅ 2ΑΧ;ΦΓ3Χ ?Α≅2ΦΓ3≅

83+792,1:;,1<=,1<>+7<2?+7<2≅,1<?3∋%; ∆Α≅ΧΦΓ3> ?Α?ΦΓ3Χ ΧΑ3ΧΦΓ3Χ ?Α>ΦΓ3= 2Α=>ΦΓ3Χ =ΑΒ?ΦΓ3≅ =Α>≅ΦΓ3> ;Α>2ΦΓ3Χ 2Α;?ΦΓ3≅ ?Α∆;ΦΓ3= 2Α=;ΦΓ3Χ ΒΑ∆ΦΓ3≅

83+792Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3∋%2 ?Α>;ΦΓ3≅ ΒΑ?>ΦΓ3≅ ΒΑ2ΦΓ3≅ ;Α?=ΦΓ3> 3Α3332;= 3Α3332;≅ ΒΑ>2ΦΓ3≅ =Α=2ΦΓ3≅ =ΑΧΧΦΓ3≅ ≅Α=ΦΓ3> ∆Α=ΦΓ3= 3Α3332Β

83+792,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%? ≅Α;∆ΦΓ3≅ ΒΑ2≅ΦΓ3= 2Α>ΦΓ3= 2Α∆ΦΓ3= ≅Α2;ΦΓ3≅ >Α3?ΦΓ3≅ 2Α?;ΦΓ3≅ ?Α≅≅ΦΓ3= 2Α==ΦΓ3= 2Α≅ΧΦΓ3= ΒΑΒΦΓ3≅ ≅ΑΒ;ΦΓ3≅

83+792,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%? 3 2Α=ΦΓ3= ΒΑ≅ΒΦΓ3≅ 2Α=≅ΦΓ3= ΒΦΓ3> ?Α∆∆ΦΓ3≅ 3 2Α?≅ΦΓ3= 2Α3>ΦΓ3= ≅Α>ΦΓ3≅ >ΑΒ2ΦΓ3> ;Α?2ΦΓ3≅

83+792,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%? =Α∆;ΦΓ3Χ 2Α2=ΦΓ3= ΒΑ3ΒΦΓ3≅ ?ΑΒ;ΦΓ3= ΒΑ;∆ΦΓ3≅ ∆Α3∆ΦΓ3≅ ΒΑ;2ΦΓ3Χ ≅ΑΒ≅ΦΓ3≅ ≅ΑΧ2ΦΓ3≅ ∆Α3∆ΦΓ3≅ ΒΑ?≅ΦΓ3≅ ?ΑΒ=ΦΓ3≅

83+792,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3,1 3 =Α;;ΦΓ3> =ΦΓ3∆ ∆ΑΒ>ΦΓ3≅ ;Α;;ΦΓ3∆ 2Α;=ΦΓ3≅ 3 ∆Α?ΒΦΓ3> 2Α??ΦΓ3> 2Α∆ΦΓ3= >Α2≅ΦΓ3∆ ?ΑΧΦΓ3≅



83,192,1:;,1<=+7<>,1<2?,1<2≅,1<?3∋%? ?Α2ΧΦΓ3Χ 2Α?;ΦΓ3= ≅Α?ΦΓ3Χ 2Α2?ΦΓ3= =ΦΓ3∆ 2ΑΧΦΓ3= ;ΑΧ=ΦΓ3Χ ≅Α?;ΦΓ3≅ 2Α?≅ΦΓ3≅ ΧΑ≅;ΦΓ3≅ 2Α??ΦΓ3> 2Α;=ΦΓ3=

83,192,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%; 2Α;ΧΦΓ3Χ 3 ΒΑΒ?ΦΓ3Χ >ΑΧ=ΦΓ3> ∆Α≅=ΦΓ3Χ ;Α3≅ΦΓ3≅ ∆Α≅2ΦΓ3> 3 ;Α;ΒΦΓ3Χ 2ΑΧ=ΦΓ3Χ 2Α3;ΦΓ3≅ ;ΑΧ=ΦΓ3≅

83+792,1:;,1<=+7<>+7<2?,1<2≅+7<?3,1 ΒΑΒ∆ΦΓ3= ≅Α3?ΦΓ3= 3Α333?;≅ ?Α≅;ΦΓ3= ΧΑΒΧΦΓ3≅ =Α2ΦΓ3≅ =Α∆ΒΦΓ3≅ 2Α3∆ΦΓ3= 3Α3332≅ 2Α3?ΦΓ3= ∆Α?2ΦΓ3≅ 2Α2≅ΦΓ3≅

83+792Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%? ≅ΑΧΒΦΓ3≅ 3 2Α∆;ΦΓ3Χ ?Α2=ΦΓ3= >Α3∆ΦΓ3≅ ;Α?;ΦΓ3≅ =Α∆≅ΦΓ3≅ 3 ;Α32ΦΓ3Χ 2ΑΒΧΦΓ3= ≅Α2=ΦΓ3≅ ?ΑΧ=ΦΓ3≅

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%? ;Α2;ΦΓ3Χ ≅Α∆ΒΦΓ3≅ ?Α;;ΦΓ3Χ 3 ΧΑ>;ΦΓ3> 2ΑΒ≅ΦΓ3≅ 2Α>?ΦΓ3Χ ≅Α;≅ΦΓ3≅ ?Α??ΦΓ3Χ 3 2Α2;ΦΓ3Χ 2Α=ΦΓ3≅

83,192,1:;,1<=,1<>+7<2?+7<2≅,1<?3∋%? 3 >Α?≅ΦΓ3≅ ΒΑ2ΦΓ3Χ 3 ;Α>;ΦΓ3> =Α=≅ΦΓ3≅ 3 2ΑΒ2ΦΓ3= 2ΦΓ3≅ 3 ≅Α=∆ΦΓ3> =Α=?ΦΓ3≅

83,192,1:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%; 2Α>;ΦΓ3≅ ;Α∆>ΦΓ3≅ ?Α2=ΦΓ3Χ ?Α∆ΧΦΓ3≅ 2Α2≅ΦΓ3= ΧΑ=>ΦΓ3Χ ;Α3ΧΦΓ3≅ ≅Α>;ΦΓ3≅ ?Α==ΦΓ3Χ =Α∆ΒΦΓ3≅ >Α3ΒΦΓ3≅ 2Α;?ΦΓ3≅

83,192Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3∋%? ?Α?=ΦΓ3≅ ;Α;?ΦΓ3≅ ≅Α≅≅ΦΓ3≅ ≅Α2ΦΓ3≅ ?Α32ΦΓ3≅ ≅Α≅ΦΓ3≅ 2Α∆≅ΦΓ3≅ 2ΑΒ;ΦΓ3≅ ;Α∆>ΦΓ3≅ 2Α≅ΦΓ3≅ ;Α;ΒΦΓ3≅ ΒΑΒ2ΦΓ3≅

83,192Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%2 3 ?Α?;ΦΓ3= ΧΑ=?ΦΓ3Χ ≅Α=>ΦΓ3≅ ;Α;=ΦΓ3≅ =Α??ΦΓ3≅ 3 =ΑΧ≅ΦΓ3≅ 2Α2>ΦΓ3≅ ;Α=?ΦΓ3≅ ≅Α2∆ΦΓ3≅ ;Α=2ΦΓ3≅

83,192,1:;,1<=,1<>+7<2?+7<2≅+7<?3∋%; 2Α≅;ΦΓ3Χ ≅Α>ΦΓ3Χ >Α2=ΦΓ3Χ =ΑΧ=ΦΓ3≅ ∆ΑΒ;ΦΓ3Χ ΒΑ??ΦΓ3≅ 2Α2ΦΓ3Χ ΧΑ?>ΦΓ3Χ 2Α?≅ΦΓ3≅ ≅Α2ΒΦΓ3≅ 2ΑΒ2ΦΓ3≅ ΒΑ∆ΧΦΓ3≅

83,192Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3∋%? >Α=∆ΦΓ3≅ 2Α>>ΦΓ3≅ ;Α;;ΦΓ3≅ 2Α≅;ΦΓ3≅ 2ΑΧ≅ΦΓ3= >Α;>ΦΓ3Χ 2Α;2ΦΓ3= ?Α>≅ΦΓ3≅ =ΑΧ=ΦΓ3≅ 2Α∆≅ΦΓ3≅ ΒΑ;2ΦΓ3= 2Α3ΒΦΓ3≅

83+792,1:;,1<=+7<>+7<2?+7<2≅,1<?3,1 2ΑΧΒΦΓ3= ;Α2;ΦΓ3= 2ΑΧ≅ΦΓ3= 2Α3>ΦΓ3= ?ΑΒΒΦΓ3≅ ?Α≅?ΦΓ3≅ ?Α∆?ΦΓ3= ≅Α;≅ΦΓ3Χ ?ΑΧ=ΦΓ3= 2Α?≅ΦΓ3= ?ΑΒΧΦΓ3≅ 2ΑΒΧΦΓ3≅

83,192,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%? 3 ≅Α>ΧΦΓ3Χ 2Α>=ΦΓ3Χ 3 >Α;;ΦΓ3∆ ∆Α∆>ΦΓ3Χ 3 =Α∆=ΦΓ3Χ ;Α=2ΦΓ3Χ 3 ?Α3ΒΦΓ3> 2Α3?ΦΓ3≅

83+792Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3∋%; 3 2Α=;ΦΓ3= 2Α≅ΧΦΓ3∆ 3Α333?ΧΧ =ΦΓ3∆ ΒΑ>ΦΓ3Χ 3 ?Α;?ΦΓ3= ΒΑ3>ΦΓ3∆ 3Α3332>≅ 2Α??ΦΓ3> ∆Α≅ΦΓ3Χ

83,192,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3,1 3 =Α;∆ΦΓ3≅ 2Α;;ΦΓ3Χ 2Α2ΧΦΓ3= 2Α2∆ΦΓ3≅ ;ΑΧ>ΦΓ3≅ 3 2Α2=ΦΓ3≅ 2Α2≅ΦΓ3Χ 2Α?ΒΦΓ3= ?ΑΧ≅ΦΓ3≅ ?Α∆?ΦΓ3≅

83,192Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3∋%2 2Α;;ΦΓ3> 3 2ΑΧΧΦΓ3Χ 3 ≅Α?>ΦΓ3Χ ΒΑ2ΦΓ3Χ =ΑΧΧΦΓ3∆ 3 ?Α=ΒΦΓ3Χ 3 2Α=2ΦΓ3≅ >Α?ΦΓ3Χ

83,192Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3,1 3Α3332Χ? =Α3ΒΦΓ3≅ 3Α33322 ?Α??ΦΓ3≅ ?Α;;ΦΓ3> =Α≅>ΦΓ3Χ 3Α333?∆Χ ΒΑ?2ΦΓ3Χ 3Α3332Χ? ?Α≅ΦΓ3≅ ;Α>;ΦΓ3> ΧΑΧΒΦΓ3Χ

83+792,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%2 ?Α≅2ΦΓ3≅ 2Α=ΒΦΓ3= =Α∆?ΦΓ3≅ 2Α2?ΦΓ3= ?Α;ΧΦΓ3= ≅ΑΧ;ΦΓ3Χ ?Α?≅ΦΓ3≅ 2Α2;ΦΓ3= 2Α;∆ΦΓ3= ΧΑ2ΦΓ3≅ ?Α?≅ΦΓ3= =Α≅ΧΦΓ3Χ

83+792,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%2 ;Α2≅ΦΓ3≅ ;Α2∆ΦΓ3= ?Α?=ΦΓ3≅ ΧΑ3≅ΦΓ3≅ ΒΑ=?ΦΓ3≅ =Α?=ΦΓ3= ΒΑ>2ΦΓ3≅ ?Α=;ΦΓ3= ?ΑΧ∆ΦΓ3≅ ΧΑ3?ΦΓ3≅ ∆Α2?ΦΓ3≅ ΒΑ≅;ΦΓ3=

83,192Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3∋%? ΧΑ2ΦΓ3Χ 3Α333; ?Α=?ΦΓ3≅ ;Α3?ΦΓ3≅ 2ΑΧΒΦΓ3≅ ≅Α2∆ΦΓ3≅ 2Α?;ΦΓ3≅ =Α3>ΦΓ3= 2Α∆ΦΓ3≅ 2Α=ΒΦΓ3≅ ?Α22ΦΓ3≅ ΧΑ32ΦΓ3≅

83+792,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3,1 ?Α≅ΧΦΓ3> 2Α>=ΦΓ3≅ ≅ΑΧ=ΦΓ3Χ ΒΑ;=ΦΓ3Χ 2ΑΒ?ΦΓ3Χ =Α2;ΦΓ3Χ ΒΑ≅?ΦΓ3> 2Α≅=ΦΓ3≅ 2Α?2ΦΓ3≅ =Α;=ΦΓ3Χ ;ΑΒΧΦΓ3Χ ΒΑ2?ΦΓ3Χ

83+792,1:;,1<=,1<>+7<2?+7<2≅+7<?3∋%; 2Α3>ΦΓ3≅ ?ΑΒ=ΦΓ3≅ 2Α2?ΦΓ3= =Α3>ΦΓ3= ;ΑΧ≅ΦΓ3≅ ≅Α≅>ΦΓ3≅ 2Α2;ΦΓ3≅ ?Α22ΦΓ3≅ ΒΑ;2ΦΓ3≅ ?Α3;ΦΓ3= ?Α??ΦΓ3≅ =Α32ΦΓ3≅

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%? 2Α?≅ΦΓ3≅ 3 2Α2≅ΦΓ3≅ 2Α3=ΦΓ3≅ 2Α∆ΦΓ3≅ 2Α?ΦΓ3≅ 2Α3≅ΦΓ3Χ 3 2Α32ΦΓ3≅ 2Α?2ΦΓ3≅ 2ΑΧΦΓ3≅ ;ΑΒ?ΦΓ3Χ

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3,1 2ΑΧ;ΦΓ3Χ 3 ;ΦΓ3> =Α=>ΦΓ3Χ 2Α≅ΧΦΓ3Χ ?ΑΒ;ΦΓ3Χ 2ΑΒ?ΦΓ3Χ 3 ?Α∆ΧΦΓ3> 2Α22ΦΓ3≅ 2Α=≅ΦΓ3Χ ΒΑ;∆ΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?+7<2≅+7<?3∋%; 2Α>;ΦΓ3Χ ΧΑ3;ΦΓ3Χ ΧΑΧ?ΦΓ3Χ ?Α=;ΦΓ3= ;ΑΒΦΓ3≅ ≅ΑΒ2ΦΓ3≅ 2Α>>ΦΓ3Χ =Α>ΦΓ3Χ 2Α32ΦΓ3≅ ;Α≅?ΦΓ3= ≅ΑΒ∆ΦΓ3≅ 2Α3;ΦΓ3=

83,192,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%? ;Α;;ΦΓ3∆ ΒΑ;ΧΦΓ3Χ ?Α3ΧΦΓ3Χ 2Α>>ΦΓ3≅ ΒΑ3ΧΦΓ3≅ 2Α2ΦΓ3≅ =ΑΧΧΦΓ3∆ ?Α;2ΦΓ3Χ ΒΑ22ΦΓ3Χ 2Α2≅ΦΓ3≅ =Α=∆ΦΓ3≅ ≅Α2;ΦΓ3Χ

83+792,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%; 3 ΒΑΧ;ΦΓ3≅ 2ΑΧ?ΦΓ3Χ ?Α≅=ΦΓ3Χ 2Α∆>ΦΓ3Χ =Α?ΦΓ3Χ 3 ;Α=∆ΦΓ3≅ ?Α==ΦΓ3Χ ΒΑ∆ΧΦΓ3Χ ;Α>?ΦΓ3Χ ΒΑΧ≅ΦΓ3Χ

83,192,1:;,1<=,1<>,1<2?+7<2≅+7<?3∋%? =Α;;ΦΓ3> ?Α3?ΦΓ3≅ ≅Α>≅ΦΓ3= 2ΑΒΒΦΓ3≅ =Α;?ΦΓ3Χ ?ΑΒ2ΦΓ3≅ ∆Α?ΒΦΓ3> 2Α∆=ΦΓ3≅ >Α=ΧΦΓ3= 2Α;ΧΦΓ3≅ >Α∆ΦΓ3Χ ?ΑΧ>ΦΓ3≅

83,192,1:;,1<=+7<>,1<2?,1<2≅+7<?3∋%2 ΒΑ?ΦΓ3Χ >Α=;ΦΓ3Χ 2ΑΧ;ΦΓ3≅ 2ΦΓ3> 2Α;?ΦΓ3≅ 2Α;ΒΦΓ3≅ ΧΑ?ΧΦΓ3Χ 2ΑΒ?ΦΓ3≅ ?ΑΧΒΦΓ3≅ 2ΑΒ2ΦΓ3> ;Α?ΒΦΓ3≅ ?Α??ΦΓ3≅

83+792Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%? 3 3 3 ?Α=ΦΓ3> 3 2ΑΧΦΓ3Χ 3 3 3 ΒΑ;≅ΦΓ3> 3 ;Α;;ΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?,1<2≅+7<?3∋%; 3 ΧΑΧ;ΦΓ3Χ =ΦΓ3∆ ∆Α=?ΦΓ3≅ 3 ?Α3?ΦΓ3= 3 ;ΑΒΦΓ3Χ 2Α??ΦΓ3> 2Α>?ΦΓ3= 3 ;Α∆ΧΦΓ3=

83,192,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%; ?Α2ΧΦΓ3Χ ΧΦΓ3Χ ;ΑΧΧΦΓ3Χ ?Α≅>ΦΓ3Χ 2Α2>ΦΓ3Χ 2Α≅>ΦΓ3≅ ?ΑΒ=ΦΓ3Χ ≅Α=≅ΦΓ3Χ ΒΑ?∆ΦΓ3Χ ΒΑ=;ΦΓ3Χ 2Α2>ΦΓ3Χ ΧΑΒ?ΦΓ3Χ

83,192,1:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%2 3 ΒΑ≅ΧΦΓ3> 3 ;Α;=ΦΓ3Χ 3 =ΑΒ=ΦΓ3Χ 3 ΒΑ=2ΦΓ3> 3 ?Α>ΦΓ3Χ 3 ΒΑ≅=ΦΓ3Χ

83,192,1:;,1<=+7<>+7<2?,1<2≅+7<?3∋%? ?Α;;ΦΓ3> ;ΑΒΦΓ3= 2ΑΧ>ΦΓ3Χ ΒΑ≅>ΦΓ3Χ ΒΑ2;ΦΓ3Χ 2Α??ΦΓ3≅ ?Α=?ΦΓ3> =Α;≅ΦΓ3= ?ΑΧ2ΦΓ3Χ =Α2ΦΓ3Χ ≅Α==ΦΓ3Χ 2Α>≅ΦΓ3≅

83,192,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%2 ;Α3;ΦΓ3Χ ΒΑ∆;ΦΓ3Χ ≅ΑΒΦΓ3Χ 3 ?Α;?ΦΓ3Χ 2Α∆ΦΓ3Χ ?Α??ΦΓ3Χ >Α=ΒΦΓ3Χ ;Α3≅ΦΓ3Χ 3 2Α≅≅ΦΓ3Χ 2ΑΧΒΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?,1<2≅,1<?3,1 2Α≅ΧΦΓ3> ?ΑΒΧΦΓ3Χ ΒΑ2;ΦΓ3Χ ?Α2ΧΦΓ3≅ =Α2ΧΦΓ3> ΧΑ?;ΦΓ3Χ ?Α>∆ΦΓ3> 2Α=>ΦΓ3Χ ∆Α2≅ΦΓ3Χ ;Α3=ΦΓ3≅ ≅Α;ΒΦΓ3> ∆Α≅;ΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?,1<2≅,1<?3∋%2 3 ?Α=ΧΦΓ3≅ ?Α?=ΦΓ3= >ΦΓ3Χ ?ΑΧ>ΦΓ3Χ ?ΑΧ∆ΦΓ3≅ 3 2ΑΒΦΓ3≅ =Α2?ΦΓ3= ΒΑ2>ΦΓ3Χ ≅Α;>ΦΓ3Χ ΒΑΒ;ΦΓ3≅

83+792,1:;,1<=+7<>+7<2?,1<2≅+7<?3∋%2 ΒΑ;?ΦΓ3= ;Α;ΒΦΓ3= 3Α3332ΒΒ 2Α2ΦΓ3= =Α≅ΦΓ3= 2Α?≅ΦΓ3≅ ΧΑ?=ΦΓ3≅ 2Α=ΧΦΓ3≅ ∆Α∆;ΦΓ3= =ΑΧ≅ΦΓ3≅ ΒΑΒ>ΦΓ3= 2Α2∆ΦΓ3≅

83+792,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%? 2ΑΒ∆ΦΓ3= ∆Α;;ΦΓ3> 2Α=ΦΓ3= ?Α=ΦΓ3> 2Α?∆ΦΓ3= ;Α;;ΦΓ3Χ ΧΑ≅ΦΓ3≅ 2Α2>ΦΓ3Χ ≅Α>;ΦΓ3≅ ?Α≅=ΦΓ3> =Α∆ΦΓ3≅ ?ΑΧ≅ΦΓ3Χ

83,192,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%; 2Α≅ΧΦΓ3> 3 ΒΑ≅ΧΦΓ3> 3 ΒΑ=ΦΓ3> 2Α==ΦΓ3Χ ?Α>∆ΦΓ3> 3 ;Α2ΒΦΓ3> 3 ΒΑ;?ΦΓ3> 2Α>ΒΦΓ3Χ

83+792Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3,1 3 ?Α≅≅ΦΓ3= =Α?ΦΓ3Χ 2Α=?ΦΓ3= 2Α3;ΦΓ3≅ 2Α3∆ΦΓ3≅ 3 ?Α2ΦΓ3= ΧΑ≅≅ΦΓ3Χ 2ΑΒΧΦΓ3= ?Α=;ΦΓ3≅ 2Α∆=ΦΓ3≅

83,192,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%? 2Α∆;ΦΓ3Χ 2Α=ΦΓ3Χ ≅Α;∆ΦΓ3≅ ?Α?=ΦΓ3Χ ;ΑΧΧΦΓ3Χ ?Α2;ΦΓ3Χ 2Α≅ΦΓ3Χ 2Α>ΦΓ3Χ 2ΑΒ;ΦΓ3= ?ΑΧΧΦΓ3Χ =Α?ΒΦΓ3Χ 2Α;>ΦΓ3Χ

83,192Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%2 >Α≅ΧΦΓ3> 2Α>=ΦΓ3≅ 2Α3?ΦΓ3Χ ΒΦΓ3> ?Α;=ΦΓ3Χ ≅Α=ΦΓ3> =Α=2ΦΓ3> 2Α≅2ΦΓ3≅ >ΑΧΧΦΓ3> ≅Α≅>ΦΓ3> ∆Α≅;ΦΓ3> 2Α22ΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?+7<2≅,1<?3∋%? 3 2ΑΒΧΦΓ3≅ 2ΦΓ3> ΧΑ3;ΦΓ3Χ ;Α≅ΧΦΓ3> 2Α2=ΦΓ3≅ 3 ?Α=2ΦΓ3≅ ?ΑΒ=ΦΓ3> 2Α;ΦΓ3≅ ≅Α>;ΦΓ3> 2Α>ΧΦΓ3≅



83,192,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%2 2Α=ΧΦΓ3≅ ΒΑ;;ΦΓ3> ?ΑΒ>ΦΓ3≅ 2Α2>ΦΓ3Χ 2Α;?ΦΓ3≅ ?Α3=ΦΓ3Χ 2Α2ΧΦΓ3≅ ≅Α≅≅ΦΓ3> 2ΑΒ=ΦΓ3≅ 2Α;2ΦΓ3Χ 2Α?≅ΦΓ3≅ >ΑΧΦΓ3>

83,192,1:;,1<=,1<>,1<2?,1<2≅+7<?3∋%2 2Α∆=ΦΓ3≅ 2Α?;ΦΓ3= =Α=ΦΓ3Χ 3 2Α?=ΦΓ3≅ =Α=ΦΓ3> ;Α2>ΦΓ3≅ 2Α≅ΒΦΓ3= >ΑΧ;ΦΓ3Χ 3 2Α∆≅ΦΓ3≅ 2Α2ΦΓ3Χ

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%? ΧΑ>;ΦΓ3Χ ≅Α≅ΧΦΓ3∆ ∆ΦΓ3Χ ?Α=ΦΓ3∆ 2Α;ΒΦΓ3≅ ΒΑ∆;ΦΓ3Χ 2ΑΒ≅ΦΓ3Χ 2Α2=ΦΓ3> ≅Α>ΧΦΓ3Χ =ΦΓ3∆ >Α2=ΦΓ3Χ =ΑΒΦΓ3Χ

83,192,1:;,1<=,1<>,1<2?,1<2≅,1<?3,1 3Α3332Β 3Α33322Χ 3Α33?∆;? ΧΑ∆?ΦΓ3= 3Α3332Χ 2Α3>ΦΓ3= 3Α333?Β? 2Α2∆ΦΓ3= 3Α33Β=== ;ΑΒΧΦΓ3= 3Α3332; 2Α≅ΦΓ3=

83,192Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3∋%? 3 3 3 ≅Α==ΦΓ3Χ 2Α≅ΧΦΓ3∆ ΒΑΧ=ΦΓ3> 3 3 3 2Α2ΦΓ3≅ ΒΑ3>ΦΓ3∆ ∆Α=ΦΓ3>

83,192,1:;,1<=,1<>+7<2?+7<2≅,1<?3∋%2 3 ?ΑΒΦΓ3Χ 2Α≅ΧΦΓ3Χ ∆Α2;ΦΓ3Χ 3 ?Α3;ΦΓ3Χ 3 ΒΑ2≅ΦΓ3Χ ΒΑ3>ΦΓ3Χ 2Α>;ΦΓ3≅ 3 2Α;≅ΦΓ3Χ

83+792,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%? ?Α;ΧΦΓ3Χ 3 2Α>>ΦΓ3Χ ?Α?>ΦΓ3Χ ?Α2;ΦΓ3Χ ?Α?=ΦΓ3> 2Α=;ΦΓ3Χ 3 ?Α32ΦΓ3Χ ΒΑ==ΦΓ3Χ 2Α;>ΦΓ3Χ ΒΑ=ΦΓ3>

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%; =Α3;ΦΓ3Χ ≅Α≅ΧΦΓ3> ;Α3?ΦΓ3Χ ;Α=ΦΓ3> ?Α3ΧΦΓ3≅ ?Α;;ΦΓ3Χ =Α3>ΦΓ3Χ 2Α2=ΦΓ3Χ ;Α?=ΦΓ3Χ ΧΦΓ3> 2Α≅?ΦΓ3≅ ;ΑΧ;ΦΓ3Χ

83,192,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%; ;Α;;ΦΓ3> 3 ;Α;;ΦΓ3> 2ΦΓ3> ≅Α==ΦΓ3Χ ;ΦΓ3> ?Α3>ΦΓ3> 3 ;Α;∆ΦΓ3> ?ΦΓ3> 2Α3≅ΦΓ3≅ ?Α=>ΦΓ3>

83,192,1:;,1<=,1<>,1<2?,1<2≅+7<?3,1 3 ΒΑ≅ΦΓ3Χ 2Α2ΦΓ3≅ ;Α∆ΦΓ3≅ ΒΑ2ΧΦΓ3> 2Α3;ΦΓ3Χ 3 =ΑΧ∆ΦΓ3Χ 2ΑΧ2ΦΓ3≅ ≅Α3ΧΦΓ3≅ ΧΑ2ΧΦΓ3> ∆Α>2ΦΓ3>

83+792,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%2 ;Α;;ΦΓ3∆ ?ΦΓ3Χ ?Α;;ΦΓ3> =ΦΓ3∆ ΒΑ>;ΦΓ3> =ΦΓ3> =ΑΧΧΦΓ3∆ ;ΑΒ≅ΦΓ3Χ ;Α32ΦΓ3> 2ΦΓ3> ΒΑ=>ΦΓ3> ;Α=≅ΦΓ3>

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%2 3 ΒΑΧ∆ΦΓ3≅ 2Α≅ΧΦΓ3∆ ΒΑΧ=ΦΓ3> ;Α>;ΦΓ3> ;ΦΓ3> 3 ΒΑ?2ΦΓ3≅ ΒΑ3>ΦΓ3∆ ∆Α=ΦΓ3> ΒΑΒ∆ΦΓ3> 2Α≅;ΦΓ3>

83,192Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3∋%; 3 3 3 3 ?Α=ΦΓ3> ?Α=ΦΓ3> 3 3 3 3 ;Α∆∆ΦΓ3> 2ΑΧ;ΦΓ3>

83+792,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3∋%? ≅Α;;ΦΓ3> ?Α?ΦΓ3= 2Α3;ΦΓ3≅ >Α≅?ΦΓ3≅ ?Α∆>ΦΓ3Χ ?Α>ΒΦΓ3≅ ≅Α3;ΦΓ3> ?Α∆=ΦΓ3≅ ?Α;≅ΦΓ3≅ ;Α>ΒΦΓ3≅ ;ΑΒ2ΦΓ3Χ ?Α>ΧΦΓ3≅

83,192,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%2 2ΑΧΒΦΓ3= 2Α?∆ΦΓ3≅ 2Α>=ΦΓ3= ∆Α?=ΦΓ3> ;Α>>ΦΓ3= ΧΑ=ΦΓ3∆ ΒΑ∆≅ΦΓ3≅ ΒΑ=ΦΓ3Χ ≅Α;ΦΓ3≅ 2Α>=ΦΓ3Χ 2Α>ΧΦΓ3= 2Α=ΦΓ3>

83,192,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3,1 ≅Α≅ΧΦΓ3∆ 3 2Α2ΧΦΓ3> ΒΑ=ΦΓ3> ∆Α2ΧΦΓ3> 2ΑΧ=ΦΓ3> =ΑΧΧΦΓ3∆ 3 ?ΑΒΦΓ3> ΧΑΧ?ΦΓ3> 2Α∆2ΦΓ3Χ ?Α;≅ΦΓ3>

83,192Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3∋%? ?Α∆ΦΓ3Χ 3 ?ΑΧ>ΦΓ3Χ =ΦΓ3∆ ;Α≅>ΦΓ3Χ 2ΦΓ3> =Α3?ΦΓ3Χ 3 ≅Α?∆ΦΓ3Χ =ΑΧΧΦΓ3∆ ∆Α3?ΦΓ3Χ >Α2≅ΦΓ3∆

83,192,1:;,1<=,1<>+7<2?+7<2≅,1<?3∋%; 3 ΧΑ?>ΦΓ3= 3 3 3 =ΦΓ3∆ 3 ≅Α>ΧΦΓ3= 3 3 3 2ΦΓ3>

83,192Ε5:;,1<=,1<>+7<2?+7<2≅+7<?3∋%? 3 2ΦΓ3> 3 ΧΑ=ΦΓ3∆ 3 ?Α=ΦΓ3> 3 2ΦΓ3> 3 ∆Α=ΧΦΓ3∆ 3 2ΑΧ;ΦΓ3>

83+792,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3,1 ≅Α≅ΧΦΓ3∆ 3 ?Α>;ΦΓ3> ΧΑ=ΦΓ3∆ ?Α;;ΦΓ3> ?Α=ΦΓ3∆ =ΑΧΧΦΓ3∆ 3 ΒΑ2ΧΦΓ3> 2Α=ΦΓ3> ΒΑΒ2ΦΓ3> =ΦΓ3∆

83+792Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%2 2Α=>ΦΓ3≅ ?Α≅ΧΦΓ3> ΒΑΒΧΦΓ3Χ ΧΑ=ΦΓ3∆ ΧΑ3ΧΦΓ3Χ 2Α>ΦΓ3Χ ?Α3≅ΦΓ3≅ ;Α3≅ΦΓ3> ;Α∆≅ΦΓ3Χ ∆Α=ΧΦΓ3∆ =ΑΒΒΦΓ3Χ ;Α?ΧΦΓ3Χ

83,192Ε5:;,1<=,1<>+7<2?+7<2≅+7<?3∋%2 ΧΑ=ΦΓ3Χ 3 =Α??ΦΓ3Χ 3 >Α2>ΦΓ3Χ ∆ΑΒΦΓ3Χ ΧΑ?ΦΓ3Χ 3 ΒΑ==ΦΓ3Χ 3 ΧΑ≅≅ΦΓ3Χ 2Α>ΧΦΓ3≅

83+792Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%2 ;Α?>ΦΓ3≅ 3 >Α∆ΦΓ3Χ 3 ;Α2?ΦΓ3Χ ;Α≅ΦΓ3Χ ;Α2≅ΦΓ3≅ 3 ΧΑ3;ΦΓ3Χ 3 ΒΑΧ2ΦΓ3Χ ΧΑ2;ΦΓ3Χ

83+792Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3∋%? 3 3 3 ΒΑΒ∆ΦΓ3≅ ?Α3>ΦΓ3Χ ?Α=ΦΓ3∆ 3 3 3 >Α∆∆ΦΓ3≅ =Α2ΦΓ3Χ =ΦΓ3∆

83,192,1:;,1<=,1<>,1<2?+7<2≅,1<?3∋%? 3 3 =Α2ΧΦΓ3> ;Α>2ΦΓ3≅ ?Α2ΦΓ3Χ ?Α;ΒΦΓ3≅ 3 3 2Α??ΦΓ3Χ ;Α3>ΦΓ3≅ ;ΑΒ∆ΦΓ3Χ ΒΑ≅ΧΦΓ3≅

83+792Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%? 3 2Α≅;ΦΓ3= =Α3=ΦΓ3Χ ≅Α∆?ΦΓ3≅ =Α≅ΦΓ3Χ ?Α3;ΦΓ3= 3 ?Α=>ΦΓ3= >Α2>ΦΓ3Χ >Α;;ΦΓ3≅ ΧΑ≅=ΦΓ3Χ ΒΑ3=ΦΓ3=

83,192,1:;,1<=+7<>+7<2?,1<2≅+7<?3∋%2 3 3 3 3 3 ?ΑΧ=ΦΓ3> 3 3 3 3 3 ;Α?ΦΓ3>

83,192Ε5:;∋%2<=+7<>+7<2?+7<2≅,1<?3,1 3 3 =ΦΓ3∆ 3 =ΦΓ3∆ 2Α?=ΦΓ3> 3 3 >Α;ΧΦΓ3∆ 3 >Α;ΧΦΓ3∆ 2Α=ΦΓ3>

83,192Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%? 3 3 2Α≅ΧΦΓ3> =ΦΓ3∆ 3 3 3 3 ΒΑ3>ΦΓ3> 2ΦΓ3> 3 3

83,192,1:;,1<=+7<>+7<2?,1<2≅,1<?3,1 3 3 ?ΦΓ3> 3 3 3 3 3 ΒΑ∆ΦΓ3> 3 3 3

83+792,1:;∋%2<=,1<>+7<2?,1<2≅,1<?3,1 3 3 3 3 ?ΦΓ3> 3 3 3 3 3 ΒΑ∆ΦΓ3> 3

83+792Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3∋%2 ;Α;;ΦΓ3∆ 3 2Α>;ΦΓ3> 3 3 3 =ΑΧΧΦΓ3∆ 3 ?Α∆∆ΦΓ3> 3 3 3

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%2 3 3 3 3 ?Α2ΧΦΓ3> 3 3 3 3 3 ?Α=≅ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%? 3 3 3 ;Α?=ΦΓ3> 3 3 3 3 3 ≅Α=ΦΓ3> 3 3

83,192,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3,1 3 ΒΦΓ3> 3 3 2Α≅ΧΦΓ3∆ 3 3 ≅Α∆;ΦΓ3> 3 3 ΒΑ3>ΦΓ3∆ 3

83,192,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3,1 3 3 2Α≅ΧΦΓ3∆ 3 ?ΦΓ3> 3 3 3 ΒΑ3>ΦΓ3∆ 3 ΒΑΒ;ΦΓ3> 3

83,192Ε5:;,1<=+7<>+7<2?,1<2≅+7<?3∋%2 ≅Α≅ΧΦΓ3∆ 3 ;Α;;ΦΓ3∆ 3 2Α≅ΧΦΓ3> 3 2Α2=ΦΓ3> 3 =Α2≅ΦΓ3∆ 3 ;Α≅2ΦΓ3> 3

83,192,1:;,1<=,1<>+7<2?,1<2≅,1<?3∋%? 3 3 ?ΦΓ3> 3 >Α;;ΦΓ3∆ 3 3 3 ΒΑΒ;ΦΓ3> 3 2Α≅ΦΓ3> 3

83,192,1:;∋%2<=,1<>,1<2?+7<2≅+7<?3,1 3 ?Α≅ΧΦΓ3> 3 3 3 ?Α=ΦΓ3> 3 ΒΑ≅?ΦΓ3> 3 3 3 =ΦΓ3>

83,192Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3,1 ΒΦΓ3> 3 2ΦΓ3> 3 2Α≅ΧΦΓ3∆ 3 ≅Α∆;ΦΓ3> 3 2Α≅ΧΦΓ3> 3 ΒΑ3>ΦΓ3∆ 3

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%2 3 3 3 ΒΑ=ΦΓ3> 2Α≅ΧΦΓ3∆ 3 3 3 3 ∆ΦΓ3> ΒΑ3>ΦΓ3∆ 3

83,192,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%; ≅ΦΓ3> 3 2Α≅ΧΦΓ3∆ 3 2Α≅ΧΦΓ3∆ 3 2Α3ΒΦΓ3Χ 3 ΒΑ3>ΦΓ3∆ 3 ΒΑ3>ΦΓ3∆ 3

83,192,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%; ≅Α≅ΧΦΓ3∆ 3 ?Α2ΧΦΓ3> =ΦΓ3∆ >Α;;ΦΓ3∆ 3 2Α2=ΦΓ3> 3 ;Α>ΧΦΓ3> 2ΦΓ3> 2Α≅ΦΓ3> 3

83+792,1:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%2 3 3 ?Α≅ΧΦΓ3> 3 2ΦΓ3> 3 3 3 ≅Α=;ΦΓ3> 3 ?ΑΒ=ΦΓ3> 3



83,192Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%2 3 3 2Α≅ΧΦΓ3∆ ?Α=ΦΓ3> >Α;;ΦΓ3∆ 2ΑΧ=ΦΓ3> 3 3 ΒΑ3>ΦΓ3∆ =ΦΓ3> ?Α3ΒΦΓ3> ?Α>ΧΦΓ3>

83,192,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%2 2Α≅ΧΦΓ3> 3 >Α;;ΦΓ3∆ ?Α=ΦΓ3> ≅Α≅ΧΦΓ3∆ 3 ?Α>∆ΦΓ3> 3 ∆Α>;ΦΓ3∆ =ΦΓ3> 2Α3;ΦΓ3> 3

83+792Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%2 3 3 ΒΦΓ3> 3 3 3 3 3 ∆Α>ΦΓ3> 3 3 3

83+792,1:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%; 3 ≅Α≅ΧΦΓ3∆ ?Α=ΦΓ3> 3 2Α2ΧΦΓ3> 3 3 2Α2=ΦΓ3> ΒΑΒ≅ΦΓ3> 3 ?Α>≅ΦΓ3> 3

83,192Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3∋%; ?ΦΓ3> 3 ?Α2ΧΦΓ3> 3 >Α;;ΦΓ3∆ 3 ?ΦΓ3> 3 ?Α≅ΒΦΓ3> 3 2Α2ΧΦΓ3> 3

83+792,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3,1 3 3 3 ΒΑ?=ΦΓ3> =ΦΓ3∆ 2Α?=ΦΓ3> 3 3 3 ≅Α≅=ΦΓ3> 2Α??ΦΓ3> ?Α=ΦΓ3>

83+792,1:;∋%2<=+7<>,1<2?,1<2≅,1<?3,1 3 >Α;;ΦΓ3> 3 3 3 3 3 2ΑΒΒΦΓ3Χ 3 3 3 3

83,192,1:;,1<=+7<>,1<2?+7<2≅,1<?3∋%; 3 3 =ΦΓ3∆ 3 ;Α≅ΧΦΓ3> 3 3 3 =ΑΒ>ΦΓ3∆ 3 ΧΑ≅2ΦΓ3> 3

83,192,1:;,1<=,1<>,1<2?+7<2≅,1<?3∋%; 3 3 =Α;;ΦΓ3> 3 3 3 3 3 2Α;2ΦΓ3Χ 3 3 3

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%2 ΒΦΓ3> ;Α;;ΦΓ3∆ ;Α;;ΦΓ3> 3 3 3 ≅Α3>ΦΓ3> =ΑΧΧΦΓ3∆ >Α2≅ΦΓ3> 3 3 3

83+792,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%2 2Α;;ΦΓ3> 3 2Α≅ΧΦΓ3> 3 ;Α2ΧΦΓ3> 3 =ΑΧΧΦΓ3∆ 3 2Α;ΧΦΓ3> 3 =Α>=ΦΓ3> 3

83+792,1:;∋%2<=,1<>+7<2?+7<2≅,1<?3,1 3 2Α2ΦΓ3Χ 2Α≅ΧΦΓ3∆ 3 3 3 3 2Α∆2ΦΓ3Χ ΒΑ3>ΦΓ3∆ 3 3 3

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%2 3 3 3 ∆Α?=ΦΓ3> 3 3 3 3 3 2Α>=ΦΓ3Χ 3 3

83,192Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%; ?Α;;ΦΓ3> 3 2Α2ΧΦΓ3> 3 ΒΑ2ΧΦΓ3> 3 ?Α3>ΦΓ3> 3 2ΑΒΧΦΓ3> 3 ≅Α?ΧΦΓ3> 3

83+792,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%; 2ΦΓ3> 3 ?Α>;ΦΓ3> 3 ;Α;;ΦΓ3> 3 2ΦΓ3> 3 ;Α;2ΦΓ3> 3 ;Α>;ΦΓ3> 3

83,192,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%? 3 3 3 2Α3=ΦΓ3Χ 3 ?Α=ΦΓ3∆ 3 3 3 ?Α2ΦΓ3Χ 3 =ΦΓ3∆

83,192,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3,1 3 3 ;Α;;ΦΓ3∆ 3 ΧΑ=ΦΓ3> 3 3 3 =Α2≅ΦΓ3∆ 3 2Α>ΒΦΓ3Χ 3

83,192,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%2 2ΦΓ3> 3 2Α;;ΦΓ3> 3 ΒΑ;;ΦΓ3> ?ΑΧ=ΦΓ3> 2ΑΧ;ΦΓ3> 3 ?Α;ΒΦΓ3> 3 =Α∆∆ΦΓ3> =Α=ΦΓ3>

83,192Ε5:;,1<=,1<>+7<2?+7<2≅+7<?3,1 3 3 ΒΑ≅ΧΦΓ3> ;Α=ΦΓ3> 2Α2ΧΦΓ3> 3 3 3 ≅Α=∆ΦΓ3> ΧΦΓ3> 2ΑΒΧΦΓ3> 3

83+792,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3,1 ;Α;;ΦΓ3∆ 3 ?Α2ΧΦΓ3> 2ΦΓ3> =Α≅ΧΦΓ3> 3 =ΑΧΧΦΓ3∆ 3 2Α∆ΒΦΓ3> ?ΦΓ3> ≅Α3?ΦΓ3> 3

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%; 3 3 ;Α;;ΦΓ3> 3 =Α;;ΦΓ3> 3 3 3 ;ΑΧ>ΦΓ3> 3 ∆Α?ΒΦΓ3> 3

83,192Ε5:;∋%2<=,1<>+7<2?,1<2≅+7<?3,1 3 2ΑΧ;ΦΓ3Χ 3 3 2Α≅ΧΦΓ3∆ 3 3 ;ΦΓ3Χ 3 3 ΒΑ3>ΦΓ3∆ 3

83,192Ε5:;,1<=+7<>+7<2?+7<2≅,1<?3∋%? ;Α;;ΦΓ3∆ 3 3 3 2Α≅ΧΦΓ3∆ 2Α;>ΦΓ3Χ =ΑΧΧΦΓ3∆ 3 3 3 ΒΑ3>ΦΓ3∆ ?ΑΧ=ΦΓ3Χ

83,192Ε5:;,1<=+7<>+7<2?,1<2≅+7<?3,1 ΒΑ;;ΦΓ3> 3 ΒΑ=ΦΓ3> 3 ?Α>;ΦΓ3> 3 ?Α=?ΦΓ3> 3 ?Α3ΧΦΓ3> 3 =ΑΒ∆ΦΓ3> 3

83,192,1:;,1<=,1<>+7<2?+7<2≅,1<?3,1 3 3 ∆Α=ΦΓ3> 3 3 3 3 3 ?Α?>ΦΓ3Χ 3 3 3

83+792,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3,1 ≅Α≅ΧΦΓ3∆ 3 2Α≅ΧΦΓ3> 3 2Α;;ΦΓ3> 2ΦΓ3Χ 2Α2=ΦΓ3> 3 2Α∆ΧΦΓ3> 3 ;Α?ΧΦΓ3> 2Α≅?ΦΓ3Χ

83+792Ε5:;,1<=+7<>+7<2?+7<2≅,1<?3∋%2 3 3 ∆ΦΓ3> 3 ;Α;;ΦΓ3∆ 2Α?=ΦΓ3> 3 3 2Α=≅ΦΓ3Χ 3 =Α2≅ΦΓ3∆ ?Α=ΦΓ3>

83,192Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3,1 ΒΦΓ3> ;Α;;ΦΓ3∆ 2ΦΓ3> 2Α?=ΦΓ3> ≅Α=ΦΓ3> 3 ?ΦΓ3> =ΑΧΧΦΓ3∆ 2Α≅ΧΦΓ3> ?Α=ΦΓ3> ≅Α;=ΦΓ3> 3

83,192,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%2 3 3 3 2Α≅;ΦΓ3Χ 3 3 3 3 3 ;Α?=ΦΓ3Χ 3 3

83,192,1:;,1<=+7<>,1<2?+7<2≅+7<?3,1 ;Α;;ΦΓ3∆ ?Α2ΦΓ3Χ 3 3 2Α≅ΧΦΓ3∆ 3 =ΑΧΧΦΓ3∆ ;Α≅ΒΦΓ3Χ 3 3 ΒΑ3>ΦΓ3∆ 3

83,192,1:;,1<=,1<>+7<2?,1<2≅,1<?3∋%; 3 3 2Α2=ΦΓ3Χ 3 3 3 3 3 ?Α>?ΦΓ3Χ 3 3 3

83,192Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%; ;Α;;ΦΓ3> 3 =Α>;ΦΓ3> 3 ;Α>;ΦΓ3> ?Α=ΦΓ3∆ ?Α3>ΦΓ3> 3 ≅Α≅=ΦΓ3> 3 ΒΑ;≅ΦΓ3> =ΦΓ3∆

83,192,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3,1 3 2ΑΒΧΦΓ3Χ =ΦΓ3∆ 3 ΒΦΓ3> 3 3 2Α?ΧΦΓ3Χ 2Α??ΦΓ3> 3 ∆Α>ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%; ;Α≅ΧΦΓ3> 3 ΒΑ≅ΧΦΓ3> 3 =Α;;ΦΓ3> 3 ≅Α;=ΦΓ3> 3 ΧΑ≅∆ΦΓ3> 3 ΧΑ≅∆ΦΓ3> 3

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3,1 >Α≅ΧΦΓ3> 3 ;ΦΓ3> ΧΑ=ΦΓ3∆ ΒΑ;;ΦΓ3> 3 ΒΑ∆;ΦΓ3> 3 ?ΦΓ3> 2Α=ΦΓ3> =Α3∆ΦΓ3> 3

83,192Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3∋%; ;Α≅ΧΦΓ3> 3 ;Α≅ΧΦΓ3> 3 ΧΑ≅ΧΦΓ3> 3 ;Α3≅ΦΓ3> 3 ;Α2ΒΦΓ3> 3 ≅Α?=ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%; 2Α?;ΦΓ3Χ 3 =ΦΓ3∆ 3 ≅Α≅ΧΦΓ3> 3 2Α>>ΦΓ3Χ 3 2Α??ΦΓ3> 3 2ΑΒΦΓ3Χ 3

83,192,1:;,1<=+7<>+7<2?,1<2≅,1<?3∋%; 2Α;;ΦΓ3> 2ΑΒΧΦΓ3Χ ?Α;;ΦΓ3> 2Α=ΦΓ3> >Α;;ΦΓ3∆ 2ΑΧ=ΦΓ3> ?Α;2ΦΓ3> 2Α=ΦΓ3Χ ;Α>;ΦΓ3> ?Α;>ΦΓ3> 2Α≅ΦΓ3> ?Α3≅ΦΓ3>

83,192,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%? 3 ?ΑΒ;ΦΓ3Χ ;Α;;ΦΓ3∆ 3 2Α2ΧΦΓ3> 3 3 ΒΑ?2ΦΓ3Χ >Α2≅ΦΓ3∆ 3 ?Α>≅ΦΓ3> 3

83+792,1:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%; ?ΦΓ3> 3 ?Α2ΧΦΓ3> 3 >Α2ΧΦΓ3> ;Α=ΦΓ3> ;ΑΒ≅ΦΓ3> 3 2ΑΒΧΦΓ3> 3 2Α2ΦΓ3Χ ΧΦΓ3>

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3,1 >Α≅ΧΦΓ3> 3 ;Α;;ΦΓ3> 3 ≅Α=ΦΓ3> 3 ΒΑ=2ΦΓ3> 3 2Α?2ΦΓ3> 3 ≅Α;=ΦΓ3> 3

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%; ;Α;;ΦΓ3> 3 2Α=ΦΓ3> 3 2Α2;ΦΓ3Χ 3 ΒΑ2≅ΦΓ3> 3 2Α=?ΦΓ3> 3 ∆Α=>ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%? 2Α≅ΧΦΓ3> 3 2Α;=ΦΓ3Χ 3 ;Α;;ΦΓ3∆ 3 2Α=;ΦΓ3> 3 ?Α?ΒΦΓ3Χ 3 =Α2≅ΦΓ3∆ 3

83+792Ε5:;,1<=+7<>+7<2?,1<2≅+7<?3,1 3 3 ΧΑ;;ΦΓ3> 3 ΧΑ>;ΦΓ3> ?Α=ΦΓ3∆ 3 3 2Α>ΦΓ3Χ 3 2Α=≅ΦΓ3Χ =ΦΓ3∆



83+792Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3∋%2 3 3 2Α≅ΧΦΓ3∆ 3 2Α==ΦΓ3Χ 3 3 3 ΒΑ3>ΦΓ3∆ 3 ;ΑΧ=ΦΓ3Χ 3

83+792,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3,1 3 3 3 3 2Α≅ΧΦΓ3∆ ?Α;>ΦΓ3Χ 3 3 3 3 ΒΑ3>ΦΓ3∆ ΒΑΧ=ΦΓ3Χ

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3,1 2ΦΓ3> 3 ≅Α≅ΧΦΓ3∆ ?Α2=ΦΓ3Χ 2Α=ΦΓ3> 3 2ΑΧ;ΦΓ3> 3 >Α2≅ΦΓ3∆ ?Α==ΦΓ3Χ 2Α>ΧΦΓ3> 3

83,192Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3∋%; 2Α≅;ΦΓ3Χ 3 ;Α=ΦΓ3> 3 =Α;;ΦΓ3> 3 2Α≅ΦΓ3Χ 3 ≅Α≅≅ΦΓ3> 3 >Α==ΦΓ3> 3

83+792,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3∋%2 ;Α;;ΦΓ3∆ 2Α;;ΦΓ3> 3 =ΦΓ3∆ 2Α=?ΦΓ3Χ ?ΑΧ=ΦΓ3> =ΑΧΧΦΓ3∆ 2Α=;ΦΓ3> 3 2ΦΓ3> ;Α2∆ΦΓ3Χ ;Α?ΦΓ3>

83,192,1:;,1<=+7<>+7<2?,1<2≅,1<?3∋%? 2Α;;ΦΓ3Χ 2Α≅ΧΦΓ3> 3 >Α?=ΦΓ3> 2Α;;ΦΓ3> ≅ΦΓ3> ?Α;2ΦΓ3Χ ?Α>∆ΦΓ3> 3 2Α3∆ΦΓ3Χ ?Α>ΦΓ3> >Α3ΒΦΓ3>

83+792,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%; =Α;;ΦΓ3> 3 =Α≅ΧΦΓ3> 3 2Α3?ΦΓ3Χ =ΦΓ3∆ ≅Α>2ΦΓ3> 3 ?Α∆ΒΦΓ3> 3 ∆ΑΧΧΦΓ3> 2ΦΓ3>

83,192Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%; 2Α=;ΦΓ3Χ 3 >ΦΓ3> 3 ΒΑ>;ΦΓ3> 3 2Α;2ΦΓ3Χ 3 =ΑΧ≅ΦΓ3> 3 ;ΑΧ≅ΦΓ3> 3

83,192Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3,1 =Α≅ΧΦΓ3> 3 2Α==ΦΓ3Χ 3 ?Α>;ΦΓ3> 3 =Α3;ΦΓ3> 3 2ΑΒ;ΦΓ3Χ 3 ?Α∆;ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3,1 ΧΦΓ3> ;Α≅ΧΦΓ3> ΒΑ>;ΦΓ3> 2Α?=ΦΓ3> 2Α3;ΦΓ3Χ 3 2Α3ΒΦΓ3Χ ≅Α;=ΦΓ3> ;Α>ΧΦΓ3> ?Α=ΦΓ3> ΒΑ3>ΦΓ3> 3

83,192,1:;,1<=+7<>+7<2?,1<2≅+7<?3∋%; ΧΑ;;ΦΓ3> 3 ΧΑ>;ΦΓ3> >Α=ΦΓ3> ΒΑ≅ΧΦΓ3> 3 ≅Α;=ΦΓ3> 3 2Α=∆ΦΓ3Χ 2ΑΧΦΓ3Χ ΧΑ≅∆ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%? 2Α?ΦΓ3Χ 3 ∆Α=ΦΓ3> 3 ΧΑ;;ΦΓ3> 3 2Α3=ΦΓ3Χ 3 =Α≅>ΦΓ3> 3 ≅Α∆>ΦΓ3> 3

83,192,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%; ≅Α;;ΦΓ3> 3 >Α;;ΦΓ3∆ ΧΑ=ΦΓ3∆ 2Α;ΦΓ3Χ >ΑΧ=ΦΓ3> 2Α2ΦΓ3Χ 3 ?Α3ΒΦΓ3> 2Α=ΦΓ3> ?ΦΓ3Χ 2Α;≅ΦΓ3Χ

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3,1 3 ΒΑ≅ΧΦΓ3> 3 3 ?Α2?ΦΓ3Χ ?Α=ΦΓ3∆ 3 =Α3;ΦΓ3> 3 3 ΒΑ∆∆ΦΓ3Χ =ΦΓ3∆

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3,1 =Α;;ΦΓ3> 3 >Α>;ΦΓ3> >ΑΧ=ΦΓ3> ΧΑ2ΧΦΓ3> 3 ?Α;2ΦΓ3> 3 2ΑΒ=ΦΓ3Χ 2ΑΧ=ΦΓ3Χ 2ΦΓ3Χ 3

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3,1 ≅Α;;ΦΓ3> 3 ΒΑ2ΧΦΓ3> 3 2Α>=ΦΓ3Χ 3 ∆Α?∆ΦΓ3> 3 ;Α≅≅ΦΓ3> 3 2Α≅∆ΦΓ3Χ 3

83,192,1:;,1<=+7<>,1<2?+7<2≅+7<?3∋%2 2Α;;ΦΓ3> =Α≅ΧΦΓ3> =Α>;ΦΓ3> 3 2Α≅>ΦΓ3Χ 3 ?Α;2ΦΓ3> ∆Α>2ΦΓ3> ∆Α∆;ΦΓ3> 3 ;Α∆;ΦΓ3Χ 3

83+792,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%; ?Α;;ΦΓ3> 3 2Α;ΧΦΓ3Χ 3 2Α2;ΦΓ3Χ 3 ;Α?2ΦΓ3> 3 2ΑΒ;ΦΓ3Χ 3 2ΑΧ=ΦΓ3Χ 3

83,192Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%2 3 3 3 3 ?ΑΧ;ΦΓ3Χ 3 3 3 3 3 =Α=?ΦΓ3Χ 3

83,192,1:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%? 3 2Α3;ΦΓ3Χ 2Α≅ΧΦΓ3∆ 3 ;Α;;ΦΓ3∆ ;Α;ΦΓ3Χ 3 2ΑΧ∆ΦΓ3Χ ΒΑ3>ΦΓ3∆ 3 >Α2≅ΦΓ3∆ ΒΑ3≅ΦΓ3Χ

83,192,1:;,1<=,1<>+7<2?+7<2≅+7<?3∋%? ?Α3;ΦΓ3Χ 3 2Α2=ΦΓ3Χ 3 2Α≅ΧΦΓ3> ΧΦΓ3> 2Α3?ΦΓ3Χ 3 2Α∆ΒΦΓ3Χ 3 ?Α?=ΦΓ3> 2Α?ΧΦΓ3Χ

83+792,1:;,1<=+7<>+7<2?+7<2≅+7<?3∋%; 3 >ΦΓ3> ;Α>;ΦΓ3> ?Α∆;ΦΓ3Χ 2Α≅ΧΦΓ3∆ 2ΑΧ=ΦΓ3> 3 2Α??ΦΓ3Χ ΒΑ2ΧΦΓ3> ΒΑ3≅ΦΓ3Χ ΒΑ3>ΦΓ3∆ ?Α;≅ΦΓ3>

83,192,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%? 3 3 3 3 3 ΒΑ;>ΦΓ3Χ 3 3 3 3 3 >ΑΧ=ΦΓ3Χ

83,192Ε5:;,1<=+7<>+7<2?+7<2≅,1<?3,1 ΧΑ;;ΦΓ3> 3 >Α>;ΦΓ3> 3 2Α≅>ΦΓ3Χ 3 ?Α=?ΦΓ3> 3 ΧΑ22ΦΓ3> 3 ;Α==ΦΓ3Χ 3

83,192,1:;,1<=+7<>+7<2?,1<2≅+7<?3,1 ;Α;;ΦΓ3∆ 2Α≅ΧΦΓ3> ?ΑΒΧΦΓ3Χ =Α?=ΦΓ3> 3 =ΦΓ3∆ =ΑΧΧΦΓ3∆ ?Α>∆ΦΓ3> =ΑΧ=ΦΓ3Χ ΧΑ=ΒΦΓ3> 3 2ΦΓ3>

83,192Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3∋%2 2Α≅ΧΦΓ3> 3 ΒΑ;;ΦΓ3> 3 ?ΑΒ>ΦΓ3Χ 3 ?Α>∆ΦΓ3> 3 =Α∆∆ΦΓ3> 3 ΧΑ3>ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%? ∆Α≅ΧΦΓ3> 3 ∆Α;;ΦΓ3> ΧΑ?=ΦΓ3> 2Α2;ΦΓ3Χ 3 >Α∆≅ΦΓ3> 3 ΒΑΧ?ΦΓ3> 2ΑΒ=ΦΓ3Χ 2Α;∆ΦΓ3Χ 3

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅+7<?3,1 2Α∆ΧΦΓ3Χ 2Α∆;ΦΓ3Χ ?Α=ΦΓ3> 3 >Α≅ΧΦΓ3> 3 ?Α?2ΦΓ3Χ ?ΦΓ3Χ ;Α=≅ΦΓ3> 3 ∆Α3=ΦΓ3> 3

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%; ?ΑΒΦΓ3Χ 3 ΧΑ2ΧΦΓ3> ΧΑΧ=ΦΓ3> >Α≅ΧΦΓ3> 3 ?Α>ΦΓ3Χ 3 ∆Α;=ΦΓ3> 2Α==ΦΓ3Χ ΧΑ>ΧΦΓ3> 3

83+792Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%; 3 3 3 ΒΑ∆;ΦΓ3Χ 2Α;;ΦΓ3> 3 3 3 3 =Α≅;ΦΓ3Χ ;Α?ΧΦΓ3> 3

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3,1 2Α=ΧΦΓ3Χ 3 >Α2ΧΦΓ3> 3 2Α∆;ΦΓ3Χ 3 2Α∆=ΦΓ3Χ 3 ;Α≅≅ΦΓ3> 3 2Α3∆ΦΓ3Χ 3

83+792,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%; 2Α;;ΦΓ3> 3 ?Α?=ΦΓ3Χ =ΦΓ3∆ >Α2ΧΦΓ3> =Α=ΦΓ3> ?Α;2ΦΓ3> 3 ;Α=ΒΦΓ3Χ 2ΦΓ3> 2Α;ΒΦΓ3Χ 2Α2ΦΓ3Χ

83+792,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%; 2ΑΧΧΦΓ3Χ ≅ΦΓ3> ΒΑ2ΧΦΓ3> 3 2Α∆?ΦΓ3Χ =ΦΓ3∆ ?Α?=ΦΓ3Χ =Α?∆ΦΓ3> ΧΑ;;ΦΓ3> 3 2Α?>ΦΓ3Χ =ΑΧΧΦΓ3∆

83,192Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3∋%2 2Α2ΦΓ3Χ 3 =Α;;ΦΓ3> 3 ?ΑΒ>ΦΓ3Χ 3 2Α2=ΦΓ3Χ 3 ΧΑ=>ΦΓ3> 3 2ΑΧ≅ΦΓ3Χ 3

83+792,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%2 ;Α;;ΦΓ3> 3 2Α≅;ΦΓ3Χ 3 2ΑΧΧΦΓ3Χ ;ΦΓ3> ΒΑ∆;ΦΓ3> 3 2ΑΧΦΓ3Χ 3 2ΑΒΧΦΓ3Χ ΒΑΧ≅ΦΓ3>

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%? 2Α>ΧΦΓ3Χ 3 2Α?=ΦΓ3Χ 3 2Α≅ΦΓ3Χ 3 2Α≅?ΦΓ3Χ 3 2Α?≅ΦΓ3Χ 3 2Α=2ΦΓ3Χ 3

83+792Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3∋%; 2Α=ΦΓ3Χ 3 =ΦΓ3> 3 ?Α=>ΦΓ3Χ 3 ΧΦΓ3> 3 ;Α=?ΦΓ3> 3 ?Α;2ΦΓ3Χ 3

83,192,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3∋%; 3 3 ?Α≅?ΦΓ3Χ 3 2Α;=ΦΓ3Χ 3 3 3 ΒΑ≅=ΦΓ3Χ 3 ΧΑ≅2ΦΓ3> 3

83,192,1:;,1<=,1<>+7<2?+7<2≅+7<?3∋%2 ?Α≅ΧΦΓ3> =Α;;ΦΓ3> >Α;;ΦΓ3> 3 ;Α≅ΧΦΓ3> ;Α≅;ΦΓ3Χ ;Α3≅ΦΓ3> ∆Α?ΒΦΓ3> 2Α3=ΦΓ3Χ 3 ΧΑ?ΦΓ3> ΧΑ?=ΦΓ3Χ

83+792Ε5:;∋%2<=,1<>+7<2?+7<2≅,1<?3,1 2Α?ΧΦΓ3Χ 3 ;Α>;ΦΓ3> ?Α?=ΦΓ3> ?Α>?ΦΓ3Χ ΧΑ=ΦΓ3∆ 2Α≅ΧΦΓ3Χ 3 ;ΑΧ≅ΦΓ3> ;Α>≅ΦΓ3> ?Α?ΦΓ3Χ ∆Α=ΧΦΓ3∆

83+792Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%2 ;Α;;ΦΓ3> 3 ;Α≅ΧΦΓ3> 3 ?Α>ΧΦΓ3Χ 2ΦΓ3Χ ;Α=2ΦΓ3> 3 ?Α2≅ΦΓ3> 3 =Α>ΒΦΓ3Χ ?ΦΓ3Χ

83,192Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3∋%; 2ΑΧΦΓ3Χ ?Α≅ΧΦΓ3> ?Α?;ΦΓ3Χ 3 >Α>;ΦΓ3> 3 2Α2;ΦΓ3Χ ΒΑ≅?ΦΓ3> ?Α>;ΦΓ3Χ 3 2Α2ΦΓ3Χ 3

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%2 ΧΦΓ3> 3 ?Α≅?ΦΓ3Χ 3 2Α?ΦΓ3Χ ?Α=ΦΓ3∆ ΒΑ=>ΦΓ3> 3 ?Α>?ΦΓ3Χ 3 2ΑΒ2ΦΓ3Χ =ΦΓ3∆

83,192Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3∋%2 2Α3ΧΦΓ3Χ 3 ∆Α=ΦΓ3> 3 ?ΑΧ>ΦΓ3Χ 3 ΒΑ3ΒΦΓ3> 3 ≅Α2?ΦΓ3> 3 ?Α>ΧΦΓ3Χ 3



83+792,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%; 3 3 2Α≅ΧΦΓ3∆ 3 ΒΑ;>ΦΓ3Χ 3 3 3 ΒΑ3>ΦΓ3∆ 3 ≅Α3ΒΦΓ3Χ 3

83,192Ε5:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%? ;ΦΓ3> 3 2Α>=ΦΓ3Χ 3 2Α;;ΦΓ3> ;Α==ΦΓ3Χ ?Α≅=ΦΓ3> 3 ΒΑ3=ΦΓ3Χ 3 ?Α;ΒΦΓ3> ΒΑΧ;ΦΓ3Χ

83+792Ε5:;∋%2<=+7<>+7<2?,1<2≅,1<?3,1 ∆Α;;ΦΓ3> =Α=;ΦΓ3Χ ?Α;;ΦΓ3> 3 2Α3?ΦΓ3Χ ?Α=ΦΓ3∆ ≅Α3;ΦΓ3> >ΑΧ;ΦΓ3Χ ;Α≅2ΦΓ3> 3 2Α==ΦΓ3Χ =ΦΓ3∆

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%2 3 ≅Α?ΦΓ3Χ 3 ?Α?=ΦΓ3> 2ΑΒΦΓ3Χ 3 3 2Α3ΧΦΓ3≅ 3 ΒΑ=ΦΓ3> ;ΑΒ;ΦΓ3Χ 3

83,192,1:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%; ≅Α≅ΧΦΓ3∆ 3 ΒΑ≅;ΦΓ3Χ 3 3 3 2Α2=ΦΓ3> 3 2Α2;ΦΓ3≅ 3 3 3

83,192,1:;,1<=,1<>+7<2?,1<2≅+7<?3∋%; 2ΦΓ3> ΒΑ2ΧΦΓ3Χ 2Α≅ΧΦΓ3∆ 3 3 ;Α>=ΦΓ3Χ 2ΑΧ;ΦΓ3> ΧΑ??ΦΓ3Χ ΒΑ3>ΦΓ3∆ 3 3 ≅Α∆∆ΦΓ3Χ

83+792,1:;∋%2<=,1<>+7<2?+7<2≅,1<?3∋%? 2Α?ΦΓ3Χ 3 2Α>>ΦΓ3Χ 3 ?Α=ΧΦΓ3Χ 2ΑΧ=ΦΓ3> 2Α;=ΦΓ3Χ 3 2Α∆=ΦΓ3Χ 3 ;Α∆ΒΦΓ3Χ ;Α=ΦΓ3>

83+792Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3∋%; 2Α>ΦΓ3Χ 3 ≅Α>;ΦΓ3> 3 ;ΑΧ;ΦΓ3Χ 3 >ΦΓ3> 3 ΒΑΧ2ΦΓ3> 3 ;Α≅≅ΦΓ3Χ 3

83+792Ε5:;∋%2<=+7<>,1<2?+7<2≅,1<?3,1 ≅Α≅ΧΦΓ3> 3 ;ΦΓ3> 3 ΒΑΧ?ΦΓ3Χ 3 2Α2=ΦΓ3Χ 3 ;Α2ΦΓ3> 3 >Α3ΧΦΓ3Χ 3

83+792Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3,1 ?Α3ΧΦΓ3Χ 3 2Α∆;ΦΓ3Χ 3 ?Α==ΦΓ3Χ 3 ?Α>∆ΦΓ3Χ 3 2Α>2ΦΓ3Χ 3 ;Α∆∆ΦΓ3Χ 3

83,192Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3∋%; ?Α>ΧΦΓ3Χ 3 ?Α≅=ΦΓ3Χ 3 2Α=?ΦΓ3Χ 3 2Α∆ΒΦΓ3Χ 3 2Α;ΧΦΓ3Χ 3 2ΑΧΦΓ3Χ 3

83,192,1:;,1<=+7<>+7<2?+7<2≅+7<?3,1 ;Α>;ΦΓ3Χ 2Α=;ΦΓ3Χ =Α>;ΦΓ3> ΧΑ?=ΦΓ3> 2Α≅>ΦΓ3Χ ?ΑΧ=ΦΓ3> ;Α;∆ΦΓ3Χ ?Α≅≅ΦΓ3Χ ;Α>?ΦΓ3> 2ΑΒ=ΦΓ3Χ 2ΑΒ∆ΦΓ3Χ =Α=ΦΓ3>

83,192Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%; ≅Α∆ΦΓ3Χ 3 ∆Α>;ΦΓ3> 2Α=ΦΓ3> 2Α?;ΦΓ3Χ 3 >ΑΧ≅ΦΓ3Χ 3 >Α;;ΦΓ3> ;ΦΓ3> 2Α=ΦΓ3Χ 3

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%; ?ΑΧΦΓ3Χ 3 ∆Α>;ΦΓ3> 3 ;Α=?ΦΓ3Χ 3 ;ΑΒ∆ΦΓ3Χ 3 2Α2>ΦΓ3Χ 3 ?Α>ΧΦΓ3Χ 3

83,192,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%2 2Α≅ΧΦΓ3> ≅Α≅ΧΦΓ3∆ 2Α>;ΦΓ3> ;Α=>ΦΓ3Χ =ΦΓ3∆ =Α3=ΦΓ3Χ 2Α2=ΦΓ3> 2Α2=ΦΓ3> 2Α∆ΒΦΓ3> ΧΑ2=ΦΓ3Χ >Α;ΧΦΓ3∆ ∆Α∆ΧΦΓ3Χ

83,192Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3∋%; ;Α≅;ΦΓ3Χ 3 ;Α>;ΦΓ3Χ 3 ∆Α=ΦΓ3> 3 ;Α?=ΦΓ3Χ 3 ;Α??ΦΓ3Χ 3 ∆ΑΧΧΦΓ3> 3

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3,1 ?Α;ΧΦΓ3Χ 3 2Α2>ΦΓ3Χ ?Α=ΦΓ3> ;Α∆;ΦΓ3Χ ?Α=ΦΓ3> ;Α;?ΦΓ3Χ 3 2Α2;ΦΓ3Χ =ΦΓ3> ;ΑΒ?ΦΓ3Χ ;Α;?ΦΓ3>

83,192,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3∋%? ?Α≅ΧΦΓ3> 3 =Α>;ΦΓ3> 3 ≅Α;;ΦΓ3Χ 3 2Α2=ΦΓ3> 3 ΒΑ2ΧΦΓ3> 3 2Α2∆ΦΓ3≅ 3

83,192Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3,1 2Α≅;ΦΓ3Χ 3 ΒΑ∆ΦΓ3Χ ;ΑΧ=ΦΓ3> 2Α;?ΦΓ3Χ 3 >Α2ΒΦΓ3> 3 =Α?∆ΦΓ3Χ ΧΑ=ΦΓ3> 2ΦΓ3Χ 3

83,192,1:;,1<=,1<>,1<2?+7<2≅,1<?3∋%2 3 3 3 3 ΧΑ?>ΦΓ3Χ ?ΑΧ=ΦΓ3> 3 3 3 3 2ΑΧ>ΦΓ3≅ =Α=ΦΓ3>

83+792,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%; 3 ?Α∆ΧΦΓ3Χ ;Α∆>ΦΓ3Χ 2ΑΧ=ΦΓ3> 2Α2ΧΦΓ3Χ 2Α2>ΦΓ3Χ 3 =Α2ΒΦΓ3Χ ∆ΑΒ?ΦΓ3Χ ?Α>ΧΦΓ3> ?Α2ΦΓ3Χ 2ΑΒ2ΦΓ3Χ

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%; 2Α∆ΧΦΓ3Χ 3 ΒΑ?=ΦΓ3Χ 3 ?ΑΒ?ΦΓ3Χ 3 ?Α>∆ΦΓ3Χ 3 ;Α?≅ΦΓ3Χ 3 2Α>ΧΦΓ3Χ 3

83,192,1:;,1<=+7<>,1<2?+7<2≅,1<?3,1 3 2Α=2ΦΓ3≅ 3 2Α=ΦΓ3> 2Α≅ΧΦΓ3∆ ?Α=ΦΓ3∆ 3 ?Α≅?ΦΓ3≅ 3 2Α∆2ΦΓ3> ΒΑ3>ΦΓ3∆ =ΦΓ3∆

83,192Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3∋%2 ∆Α2;ΦΓ3Χ 3 >ΦΓ3> 2Α≅ΦΓ3Χ 2Α?>ΦΓ3Χ 3 2Α?∆ΦΓ3≅ 3 ≅Α∆≅ΦΓ3> ;Α?ΦΓ3Χ ΧΑΧ>ΦΓ3> 3

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%; ≅Α≅ΦΓ3Χ 3 2Α>=ΦΓ3Χ 3 ?Α≅>ΦΓ3Χ 3 >Α≅ΧΦΓ3Χ 3 2ΑΧΦΓ3Χ 3 ?ΑΒΒΦΓ3Χ 3

83+792,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%2 3 3 2Α;;ΦΓ3> 3 ΧΑΧ?ΦΓ3Χ 3 3 3 ?Α2≅ΦΓ3> 3 2Α>>ΦΓ3≅ 3

83+792Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3,1 ;ΑΒΧΦΓ3Χ 3 =Α?ΦΓ3Χ 3 ∆Α2ΧΦΓ3> 3 ?Α>?ΦΓ3Χ 3 ΧΑ?ΒΦΓ3Χ 3 2Α3>ΦΓ3Χ 3

83+792Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3,1 2ΑΒΦΓ3Χ ∆Α≅ΦΓ3Χ 2ΑΒ=ΦΓ3Χ 3 ∆Α≅ΧΦΓ3> 3 ≅Α?ΒΦΓ3> 2Α≅≅ΦΓ3≅ =Α3∆ΦΓ3> 3 ∆Α=ΦΓ3> 3

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%; ∆Α3;ΦΓ3Χ 3 2ΑΒ;ΦΓ3Χ 2Α?=ΦΓ3> 2Α≅;ΦΓ3Χ =Α?=ΦΓ3> 2Α3∆ΦΓ3≅ 3 2Α22ΦΓ3Χ 2Α>∆ΦΓ3> ?Α2∆ΦΓ3Χ >Α≅?ΦΓ3>

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3,1 ?Α3;ΦΓ3Χ ∆Α?ΧΦΓ3Χ ≅Α;;ΦΓ3> ?Α?=ΦΓ3Χ =Α=ΦΓ3> 2ΑΧ=ΦΓ3> ?Α=>ΦΓ3Χ ΒΑ≅ΦΓ3Χ =ΑΒ;ΦΓ3> ΒΑ=ΦΓ3Χ ?Α3ΧΦΓ3> ;Α=ΦΓ3>

83,192Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%; =ΑΒΧΦΓ3Χ 3 ?Α==ΦΓ3Χ ;ΑΧ=ΦΓ3> ;Α2?ΦΓ3Χ 3 ?Α∆ΧΦΓ3Χ 3 ?Α3?ΦΓ3Χ ΧΑ=ΦΓ3> ΒΑΒ>ΦΓ3Χ 3

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%2 2Α∆ΧΦΓ3Χ 2Α∆;ΦΓ3Χ ;Α>;ΦΓ3Χ 3 3 ΒΑ;ΦΓ3Χ ;ΑΒ2ΦΓ3Χ ;Α;=ΦΓ3Χ ≅Α3=ΦΓ3Χ 3 3 >Α≅ΦΓ3Χ

83,192,1:;,1<=+7<>,1<2?,1<2≅+7<?3,1 ≅ΑΒΧΦΓ3Χ 3 ;Α>ΦΓ3Χ 3 2ΑΒ>ΦΓ3Χ ;Α?=ΦΓ3> 2Α2?ΦΓ3≅ 3 ∆Α;2ΦΓ3Χ 3 ;Α≅;ΦΓ3Χ ≅Α=ΦΓ3>

83,192Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3∋%? 3 2Α3;ΦΓ3Χ 2Α≅;ΦΓ3Χ ?Α;ΦΓ3Χ 3 ΧΑΧ=ΦΓ3Χ 3 2ΑΧ∆ΦΓ3Χ ;Α∆ΦΓ3Χ ΒΑ≅ΦΓ3Χ 3 2Α==ΦΓ3≅

83+792Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3,1 =Α>ΧΦΓ3Χ 3 ;Α;=ΦΓ3Χ 3 ?Α≅=ΦΓ3Χ 3 ;Α=?ΦΓ3Χ 3 =Α∆≅ΦΓ3> 3 ?Α=>ΦΓ3Χ 3

83+792,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3,1 ≅Α≅ΧΦΓ3∆ 2ΑΧ;ΦΓ3≅ 2Α=ΦΓ3> 3 2Α>;ΦΓ3> 2Α?=ΦΓ3> 2Α2=ΦΓ3> ;ΦΓ3≅ ?Α=2ΦΓ3> 3 ΒΑΒ∆ΦΓ3> 2Α=ΦΓ3>

83+792Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%? 3 2Α≅ΦΓ3≅ 3 2Α2ΦΓ3Χ ;Α;;ΦΓ3∆ ΧΦΓ3> 3 2Α≅2ΦΓ3≅ 3 2Α2ΦΓ3Χ =Α2≅ΦΓ3∆ 2ΑΒΦΓ3Χ

83,192Ε5:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%; 2Α=ΧΦΓ3Χ 3 ΧΑ;;ΦΓ3> 3 ΧΑ>?ΦΓ3Χ 3 ?ΑΧ2ΦΓ3Χ 3 2Α>ΦΓ3Χ 3 ≅Α>?ΦΓ3Χ 3

83+792Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3,1 ΒΑΧ;ΦΓ3Χ 3 =Α??ΦΓ3Χ 3 ?Α3>ΦΓ3Χ 3 ΧΑ3∆ΦΓ3> 3 2Α∆?ΦΓ3Χ 3 2Α?=ΦΓ3Χ 3

83,192,1:;,1<=,1<>+7<2?,1<2≅,1<?3,1 3 3 ∆Α∆?ΦΓ3Χ 3 3 3 3 3 2Α>=ΦΓ3≅ 3 3 3

83,192,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%; ;Α;;ΦΓ3> 3 >Α3=ΦΓ3Χ 3 2Α>ΦΓ3Χ 3 ;Α=2ΦΓ3> 3 >Α2;ΦΓ3Χ 3 ;Α32ΦΓ3Χ 3

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%; ΒΑ2;ΦΓ3Χ 3 =Α;;ΦΓ3> 3 2Α3>ΦΓ3Χ ∆Α=;ΦΓ3Χ ≅Α??ΦΓ3Χ 3 ΒΑΒ≅ΦΓ3> 3 >Α3≅ΦΓ3> 2Α∆2ΦΓ3≅

83,192,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%? ≅Α≅ΧΦΓ3∆ 2ΑΧ≅ΦΓ3≅ ;Α≅ΧΦΓ3> 3 2Α3;ΦΓ3Χ 3 2Α2=ΦΓ3> ;Α3ΒΦΓ3≅ ?Α=>ΦΓ3> 3 2Α;>ΦΓ3Χ 3

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%? 2Α>ΧΦΓ3Χ 3 ΒΑ?ΧΦΓ3Χ 3 =Α2=ΦΓ3Χ 3 2ΑΧ≅ΦΓ3Χ 3 ΒΑ2=ΦΓ3Χ 3 ;Α3;ΦΓ3Χ 3



83+792,1:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%; ;Α;;ΦΓ3∆ 3 >Α?>ΦΓ3Χ ?Α=>ΦΓ3Χ ≅Α≅ΧΦΓ3∆ >Α?=ΦΓ3> =ΑΧΧΦΓ3∆ 3 ?Α3;ΦΓ3≅ ΒΑ∆=ΦΓ3Χ 2Α≅;ΦΓ3> 2Α≅=ΦΓ3Χ

83+792,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%2 3 ≅Α>;ΦΓ3Χ ΒΑ>ΦΓ3Χ ?ΑΧ=ΦΓ3Χ 2Α≅ΧΦΓ3∆ 2Α2>ΦΓ3Χ 3 2Α2>ΦΓ3≅ 2Α2>ΦΓ3≅ ;Α≅=ΦΓ3Χ ΒΑ3>ΦΓ3∆ 2Α>≅ΦΓ3Χ

83+792,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%; 3 2Α=≅ΦΓ3≅ ?ΑΒΦΓ3Χ 3 ΧΦΓ3> 3 3 ?ΑΧΦΓ3≅ ;Α∆2ΦΓ3Χ 3 ΧΑΒ≅ΦΓ3> 3

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%2 ;Α;;ΦΓ3∆ ;ΦΓ3Χ 2Α;;ΦΓ3> 3 ∆Α?=ΦΓ3Χ 3 =ΑΧΧΦΓ3∆ =Α?ΦΓ3Χ ?Α>ΦΓ3> 3 2Α>=ΦΓ3≅ 3

83,192Ε5:;,1<=+7<>,1<2?+7<2≅+7<?3∋%2 =ΑΧΧΦΓ3Χ 3 ;Α2>ΦΓ3Χ 3 ΒΑ>;ΦΓ3Χ 3 >Α∆≅ΦΓ3Χ 3 ΒΑ=ΒΦΓ3Χ 3 ΒΑ∆ΧΦΓ3Χ 3

83+792Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%2 ≅Α≅ΧΦΓ3> 3 ≅Α>;ΦΓ3> 3 ∆Α∆ΦΓ3Χ 3 =Α=2ΦΓ3> 3 ΒΑ3ΧΦΓ3> 3 ?ΦΓ3≅ 3

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%2 3 2Α∆ΦΓ3≅ 3 3 ≅Α≅ΧΦΓ3∆ ?Α;ΦΓ3Χ 3 ?Α3>ΦΓ3≅ 3 3 2Α?2ΦΓ3> ?ΑΧΦΓ3Χ

83,192,1:;∋%2<=+7<>+7<2?+7<2≅+7<?3∋%2 ?ΑΒΧΦΓ3Χ 2Α≅ΧΦΓ3> 2Α?=ΦΓ3Χ 3 >Α≅>ΦΓ3Χ 3 ;Α?∆ΦΓ3Χ 2Α=;ΦΓ3> ?Α;ΒΦΓ3Χ 3 ?Α3≅ΦΓ3≅ 3

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%2 ;Α;;ΦΓ3∆ ;Α3ΧΦΓ3Χ 2Α≅ΧΦΓ3∆ ΒΑ?=ΦΓ3> ∆ΑΒΦΓ3Χ 3 =ΑΧΧΦΓ3∆ =Α;2ΦΓ3Χ ΒΑ3>ΦΓ3∆ ΒΑΧ∆ΦΓ3> 2Α=∆ΦΓ3≅ 3

83,192,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%? ?Α=ΧΦΓ3Χ 3 =Α2=ΦΓ3Χ ΒΑ?=ΦΓ3> ;ΑΒ=ΦΓ3Χ 2Α>;ΦΓ3Χ 2Α=;ΦΓ3> 3 =Α2>ΦΓ3Χ =Α≅>ΦΓ3> ;Α3ΧΦΓ3Χ ;Α≅=ΦΓ3Χ

83+792Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3,1 ΒΑ3ΧΦΓ3Χ 3 ;Α>=ΦΓ3Χ 3 ≅Α?ΦΓ3Χ 3 2ΑΒ;ΦΓ3Χ 3 ?Α?=ΦΓ3Χ 3 =Α?;ΦΓ3Χ 3

83,192Ε5:;,1<=+7<>+7<2?,1<2≅+7<?3∋%? 2Α2ΦΓ3Χ 3 3 2ΑΧ∆ΦΓ3≅ 3 ΧΦΓ3> 2Α∆2ΦΓ3Χ 3 3 ?Α2≅ΦΓ3≅ 3 2ΑΒΦΓ3Χ

83+792,1:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%2 3 3 >Α;;ΦΓ3∆ ∆Α?=ΦΓ3> 2Α?=ΦΓ3≅ 3 3 3 ?Α3ΒΦΓ3> 2Α>=ΦΓ3Χ ;Α3=ΦΓ3≅ 3

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅+7<?3,1 2Α≅ΧΦΓ3> ?Α3≅ΦΓ3≅ 2Α;;ΦΓ3> 3 ?Α=>ΦΓ3Χ ?Α=ΦΓ3> ?Α3>ΦΓ3> 2Α∆=ΦΓ3≅ ?Α2≅ΦΓ3> 3 ≅Α2;ΦΓ3Χ ;ΑΧ∆ΦΓ3>

83+792Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3,1 ΧΑ>ΧΦΓ3Χ 3 ≅Α;ΦΓ3Χ 3 ;Α=ΦΓ3Χ 3 2Α3;ΦΓ3Χ 3 ?Α3>ΦΓ3Χ 3 ;Α3>ΦΓ3Χ 3

83+792Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%; ΧΑ?ΦΓ3Χ 3 ≅ΑΧΦΓ3Χ 3 ΒΑ2ΦΓ3Χ 3 ?ΑΒ≅ΦΓ3Χ 3 2Α≅;ΦΓ3Χ 3 2Α∆≅ΦΓ3Χ 3

83+792Ε5:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%? 3 ΒΑ≅ΧΦΓ3> 3 >Α=ΦΓ3Χ ΧΑ=ΦΓ3Χ ?Α?;ΦΓ3Χ 3 >Α3>ΦΓ3> 3 ∆Α>?ΦΓ3Χ 2Α>;ΦΓ3≅ ΒΑΒ=ΦΓ3Χ

83+792Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%; ≅Α2;ΦΓ3Χ 3 ≅Α;;ΦΓ3Χ 3 =Α>ΧΦΓ3Χ ?Α=ΦΓ3> 2Α=ΒΦΓ3Χ 3 ?Α=ΦΓ3Χ 3 ΒΑ3>ΦΓ3Χ =ΦΓ3>

83,192,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%; ΒΦΓ3> 3 ?Α=>ΦΓ3Χ 3 2Α;ΒΦΓ3≅ 3 ≅Α∆;ΦΓ3> 3 ΒΑ3ΒΦΓ3Χ 3 2Α∆=ΦΓ3≅ 3

83,192,1:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%2 2Α≅;ΦΓ3Χ =Α∆;ΦΓ3Χ 2Α2=ΦΓ3≅ =ΦΓ3∆ 2ΑΧ;ΦΓ3Χ 3 2ΑΒ>ΦΓ3Χ 2Α3;ΦΓ3≅ >Α??ΦΓ3Χ 2ΦΓ3> 2Α>≅ΦΓ3Χ 3

83,192,1:;,1<=,1<>+7<2?+7<2≅+7<?3,1 >Α≅ΧΦΓ3> ;ΑΒ∆ΦΓ3≅ 3 3 3 3 2Α=ΦΓ3Χ ≅Α3ΒΦΓ3≅ 3 3 3 3

83,192,1:;,1<=,1<>+7<2?,1<2≅,1<?3∋%2 3 3 2Α3ΧΦΓ3≅ 3 3 2Α2;ΦΓ3≅ 3 3 ?Α≅;ΦΓ3≅ 3 3 2Α?∆ΦΓ3≅

83+792Ε5:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%; =ΑΒΦΓ3Χ 2ΦΓ3> ΧΑ>ΧΦΓ3Χ 3 ΧΑ≅ΧΦΓ3Χ 3 >ΑΒ?ΦΓ3Χ 2ΑΧ;ΦΓ3> ΧΑ?∆ΦΓ3Χ 3 ΧΑ2;ΦΓ3Χ 3

83+792Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%? 3 3 3 3 3 ?ΑΧ≅ΦΓ3≅ 3 3 3 3 3 =Α=;ΦΓ3≅

83,192,1:;,1<=+7<>+7<2?,1<2≅,1<?3∋%2 ;Α>ΦΓ3Χ ?ΦΓ3> 3 2ΑΧ;ΦΓ3Χ 2Α=∆ΦΓ3≅ 3 ≅Α=>ΦΓ3Χ ;ΑΒ≅ΦΓ3> 3 ;ΑΒ=ΦΓ3Χ ;Α∆ΦΓ3≅ 3

83,192,1:;∋%2<=,1<>+7<2?,1<2≅+7<?3∋%? ;Α;;ΦΓ3∆ ?Α3ΧΦΓ3Χ 2Α≅ΧΦΓ3∆ 3 ;Α;;ΦΓ3∆ ?Α>=ΦΓ3≅ =ΑΧΧΦΓ3∆ ?Α3=ΦΓ3Χ ΒΑ3>ΦΓ3∆ 3 =Α2≅ΦΓ3∆ =Α≅;ΦΓ3≅

83+792Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3,1 2Α2ΦΓ3≅ >Α2ΧΦΓ3Χ =Α?;ΦΓ3Χ ;ΦΓ3> =Α>?ΦΓ3Χ 3 2Α2∆ΦΓ3≅ 2ΑΒ2ΦΓ3≅ ΒΑ2?ΦΓ3Χ ≅ΦΓ3> ∆Α3∆ΦΓ3Χ 3

83,192Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3∋%; ;ΦΓ3> ;Α3ΒΦΓ3≅ 2Α=ΦΓ3Χ 2ΦΓ3> ΒΑ3>ΦΓ3Χ 2ΑΧ=ΦΓ3> ;Α≅2ΦΓ3> ;Α∆2ΦΓ3≅ ?Α?2ΦΓ3Χ ?ΦΓ3> ΒΑΒΒΦΓ3Χ ;Α=ΦΓ3>

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%? ΧΑ∆ΦΓ3Χ 3 =ΑΧ=ΦΓ3Χ ?Α=ΦΓ3∆ 2Α;=ΦΓ3≅ 3 ?Α≅∆ΦΓ3Χ 3 ;Α≅ΦΓ3Χ =ΦΓ3∆ >Α;2ΦΓ3Χ 3

83+792Ε5:;,1<=,1<>,1<2?,1<2≅,1<?3∋%; ;Α3ΧΦΓ3Χ 3 ΧΑ>?ΦΓ3Χ 3 2ΑΒΦΓ3≅ 3 ≅Α≅≅ΦΓ3> 3 >Α>ΒΦΓ3Χ 3 ?Α2=ΦΓ3≅ 3

83,192,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%? 2ΑΒ2ΦΓ3≅ 2ΦΓ3> ∆Α;;ΦΓ3Χ ;Α?=ΦΓ3Χ ;ΑΧ>ΦΓ3Χ ;ΑΒ>ΦΓ3Χ 2Α=ΧΦΓ3≅ 2ΑΧ;ΦΓ3> 2Α3=ΦΓ3≅ =ΑΒ∆ΦΓ3Χ ?ΑΧΒΦΓ3Χ =Α>ΧΦΓ3Χ

83,192Ε5:;,1<=,1<>+7<2?,1<2≅,1<?3∋%2 3 3 =Α3>ΦΓ3Χ 3 2Α≅2ΦΓ3≅ ΧΑ;;ΦΓ3Χ 3 3 2Α?=ΦΓ3≅ 3 ;Α∆ΒΦΓ3≅ 2ΑΒΧΦΓ3≅

83,192Ε5:;,1<=+7<>,1<2?,1<2≅+7<?3,1 ΒΑ3ΧΦΓ3Χ 3 2Α3=ΦΓ3≅ 2ΑΒ=ΦΓ3≅ ΒΑ≅ΧΦΓ3Χ 3 2ΑΧ≅ΦΓ3Χ 3 2ΑΒ>ΦΓ3≅ ?Α∆ΦΓ3≅ ≅Α∆=ΦΓ3Χ 3

83+792,1:;,1<=+7<>+7<2?,1<2≅,1<?3∋%; ΒΑ=;ΦΓ3Χ =Α≅ΧΦΓ3> ?ΑΧ>ΦΓ3Χ ?Α=ΦΓ3≅ 2Α>ΦΓ3Χ ≅Α2>ΦΓ3Χ =Α?∆ΦΓ3Χ ∆Α>2ΦΓ3> ;Α?2ΦΓ3Χ >Α2?ΦΓ3Χ 2Α>ΒΦΓ3Χ ΧΑ>∆ΦΓ3Χ

83,192Ε5:;,1<=+7<>+7<2?+7<2≅,1<?3∋%2 ΧΑ3;ΦΓ3Χ 3 2Α3ΧΦΓ3≅ 3 2Α;>ΦΓ3≅ 3 ∆Α>ΒΦΓ3Χ 3 2Α?≅ΦΓ3≅ 3 2Α=ΒΦΓ3≅ 3

83+792,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3,1 3 =ΑΒ≅ΦΓ3≅ 2Α=ΦΓ3> 3 =ΦΓ3> ?Α?=ΦΓ3> 3 ∆ΑΒ≅ΦΓ3≅ ;Α≅ΧΦΓ3> 3 >Α;ΧΦΓ3> 2ΑΧ2ΦΓ3>

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%? 2Α;ΦΓ3≅ 3 2Α32ΦΓ3≅ ?ΦΓ3> 2Α22ΦΓ3≅ ΧΑ=ΦΓ3> ?Α>?ΦΓ3Χ 3 ∆Α2;ΦΓ3Χ ΒΦΓ3> ;ΑΧ;ΦΓ3Χ ∆Α∆>ΦΓ3>

83+792,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3,1 ≅Α≅ΧΦΓ3∆ 3 ?Α≅ΧΦΓ3> ΒΑ2;ΦΓ3Χ ≅Α≅ΧΦΓ3> ;ΑΧ2ΦΓ3≅ =ΑΧΧΦΓ3∆ 3 ?Α>>ΦΓ3> ΒΑΒ∆ΦΓ3Χ 2Α2≅ΦΓ3Χ ;Α3;ΦΓ3≅

83,192,1:;,1<=+7<>,1<2?,1<2≅,1<?3∋%; ΒΑ≅;ΦΓ3Χ 3 ;Α;;ΦΓ3∆ 3 3 ;Α∆>ΦΓ3≅ >Α3;ΦΓ3Χ 3 =Α2≅ΦΓ3∆ 3 3 ΧΑ∆≅ΦΓ3≅

83+792Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3∋%? 3 =Α>ΧΦΓ3≅ 3 3 3 3 3 2Α3?ΦΓ3= 3 3 3 3

83+792Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3,1 ≅Α>ΧΦΓ3Χ ?Α=;ΦΓ3≅ ΧΑ∆;ΦΓ3Χ 3 ΧΑ>ΦΓ3Χ 3 2Α;;ΦΓ3Χ ΒΑ;>ΦΓ3≅ ;ΦΓ3Χ 3 >Α32ΦΓ3Χ 3

83,192,1:;,1<=,1<>,1<2?+7<2≅,1<?3,1 ΒΑ≅ΧΦΓ3> =Α∆ΧΦΓ3Χ ?ΑΧ≅ΦΓ3≅ >Α=ΦΓ3> ∆Α;;ΦΓ3> 2ΑΧ=ΦΓ3> >Α3>ΦΓ3> 2Α;=ΦΓ3Χ ΒΑ?=ΦΓ3≅ 2Α3;ΦΓ3Χ 2Α≅2ΦΓ3Χ ?Α??ΦΓ3>

83+792,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3,1 3 ≅Α≅≅ΦΓ3≅ ;Α;;ΦΓ3∆ 3 2Α≅ΧΦΓ3∆ 3 3 ?Α?∆ΦΓ3Χ =Α2≅ΦΓ3∆ 3 ΒΑ3>ΦΓ3∆ 3

83,192Ε5:;,1<=,1<>+7<2?+7<2≅,1<?3,1 =Α?;ΦΓ3Χ 3 ΧΑ>?ΦΓ3Χ ?Α3ΧΦΓ3≅ 2Α3ΧΦΓ3≅ 2Α>=ΦΓ3Χ ;Α=?ΦΓ3Χ 3 ΧΑ∆>ΦΓ3Χ ?Α?>ΦΓ3≅ 2Α2?ΦΓ3≅ ?Α2ΒΦΓ3Χ



83,192Ε5:;,1<=+7<>+7<2?+7<2≅+7<?3,1 3 ΒΑ22ΦΓ3≅ =Α=ΦΓ3> ?Α2∆ΦΓ3≅ 2Α≅ΧΦΓ3> ΒΦΓ3> 3 ΧΑ3>ΦΓ3≅ >Α∆>ΦΓ3> ;Α>ΧΦΓ3≅ ?Α=>ΦΓ3> >ΦΓ3>

83+792,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%2 ?ΑΒ;ΦΓ3Χ ΒΑ∆;ΦΓ3≅ >Α>;ΦΓ3> 3 2Α3=ΦΓ3≅ 3 ΒΑ2;ΦΓ3Χ 2Α=ΒΦΓ3≅ 2ΑΒ>ΦΓ3Χ 3 ?Α2=ΦΓ3≅ 3

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅,1<?3∋%? 2Α3>ΦΓ3≅ 3 2Α?2ΦΓ3≅ 3 ?Α?ΦΓ3≅ ?Α;;ΦΓ3Χ ∆Α;>ΦΓ3Χ 3 2Α2ΒΦΓ3≅ 3 2Α∆=ΦΓ3≅ ?Α>ΒΦΓ3Χ

83+792Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3,1 ;Α≅;ΦΓ3Χ =Α≅∆ΦΓ3≅ ≅Α2ΦΓ3Χ ΧΦΓ3Χ ≅Α=ΦΓ3> 3 ;Α=∆ΦΓ3Χ ∆Α>≅ΦΓ3≅ ;Α?∆ΦΓ3Χ 2ΑΒΦΓ3≅ =Α?ΒΦΓ3> 3

83,192,1:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%; 2Α>ΦΓ3Χ ΒΑ>;ΦΓ3≅ ΧΑ∆?ΦΓ3Χ 2Α≅>ΦΓ3Χ ΧΑ>ΧΦΓ3Χ 3 ;Α2?ΦΓ3Χ =Α;;ΦΓ3≅ ∆Α3>ΦΓ3Χ ;Α;=ΦΓ3Χ ΧΑ>>ΦΓ3Χ 3

83,192Ε5:;∋%2<=+7<>,1<2?,1<2≅+7<?3∋%; ≅Α;ΦΓ3Χ 2Α2;ΦΓ3Χ 2Α;?ΦΓ3≅ ?Α=ΦΓ3∆ ?Α=ΧΦΓ3≅ ?Α=ΦΓ3> =Α;2ΦΓ3Χ 2Α≅;ΦΓ3Χ 2Α3ΒΦΓ3≅ =ΦΓ3∆ 2ΑΧΒΦΓ3≅ =ΦΓ3>

83,192Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%2 ≅Α3ΧΦΓ3Χ ΒΑ;ΧΦΓ3Χ 2Α?≅ΦΓ3≅ 3 ?Α>=ΦΓ3≅ 3 2Α3=ΦΓ3≅ ΧΑ=≅ΦΓ3Χ 2ΑΧ2ΦΓ3≅ 3 ΒΑΒ≅ΦΓ3≅ 3

83+792,1:;∋%2<=+7<>,1<2?+7<2≅,1<?3∋%? ΧΑ≅ΧΦΓ3> 3 2Α==ΦΓ3Χ 2Α;≅ΦΓ3≅ ΧΑ=ΦΓ3> ≅Α3≅ΦΓ3≅ ∆Α>ΧΦΓ3> 3 ?Α2ΒΦΓ3Χ ?Α≅>ΦΓ3≅ ∆Α=ΦΓ3> ΧΑ=;ΦΓ3≅

83+792,1:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%2 ?Α32ΦΓ3≅ 3 ?Α>>ΦΓ3≅ 2Α=ΦΓ3> 2Α=ΒΦΓ3≅ 3 2ΑΒ=ΦΓ3≅ 3 2Α2ΦΓ3≅ ;ΦΓ3> ∆Α>ΧΦΓ3Χ 3

83,192Ε5:;∋%2<=,1<>+7<2?,1<2≅,1<?3∋%? 2ΑΒ=ΦΓ3≅ 3 >ΑΒΦΓ3Χ 3 ;Α∆∆ΦΓ3≅ 3 ≅Α;?ΦΓ3Χ 3 ΒΑ>ΦΓ3Χ 3 ΒΑΒ=ΦΓ3≅ 3

83+792,1:;∋%2<=+7<>+7<2?,1<2≅+7<?3∋%2 =Α∆ΧΦΓ3Χ >Α2∆ΦΓ3≅ ?Α?ΧΦΓ3Χ >Α>;ΦΓ3Χ ;Α=>ΦΓ3Χ 3 2Α3;ΦΓ3≅ ;ΑΒ≅ΦΓ3≅ ;Α>=ΦΓ3Χ 2ΑΧΧΦΓ3≅ ≅Α∆;ΦΓ3Χ 3

83,192,1:;,1<=,1<>+7<2?,1<2≅+7<?3∋%2 3 3 ?Α≅;ΦΓ3Χ ΧΑ3∆ΦΓ3≅ ∆Α≅ΦΓ3Χ 3 3 3 ΒΦΓ3Χ 2Α;>ΦΓ3= ?Α;=ΦΓ3≅ 3

83+792Ε5:;,1<=+7<>,1<2?,1<2≅,1<?3∋%? 3 ;Α≅≅ΦΓ3≅ ?Α3=ΦΓ3Χ ΒΑ3≅ΦΓ3≅ 2Α≅ΧΦΓ3∆ 2Α∆2ΦΓ3≅ 3 ΒΑ≅ΒΦΓ3≅ ΒΑ∆?ΦΓ3Χ ;Α≅?ΦΓ3≅ ΒΑ3>ΦΓ3∆ ;Α==ΦΓ3≅

83+792Ε5:;,1<=,1<>+7<2?+7<2≅+7<?3,1 3 ΒΑΧΒΦΓ3≅ 2Α≅ΧΦΓ3> ΒΑ3?ΦΓ3≅ >Α2>ΦΓ3Χ ?Α>ΦΓ3Χ 3 =Α>=ΦΓ3≅ ΒΑ3>ΦΓ3> ?ΑΧΒΦΓ3≅ ?ΦΓ3≅ ?Α?ΧΦΓ3Χ

83,192Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3,1 ?Α3?ΦΓ3≅ =Α2ΦΓ3≅ 2ΑΒ?ΦΓ3≅ >Α?>ΦΓ3Χ ≅ΑΧ;ΦΓ3Χ 3 2Α=ΒΦΓ3≅ ;Α?∆ΦΓ3≅ 2Α=;ΦΓ3≅ 2Α?∆ΦΓ3≅ ∆Α2ΧΦΓ3Χ 3

83,192,1:;,1<=,1<>,1<2?+7<2≅+7<?3∋%2 ≅Α2;ΦΓ3≅ ?ΑΧΧΦΓ3Χ ;Α3;ΦΓ3≅ 3 2ΑΒΦΓ3Χ 3 ;ΑΧ>ΦΓ3≅ ΒΑΧ∆ΦΓ3Χ ?ΑΒ>ΦΓ3≅ 3 ;Α2ΒΦΓ3Χ 3

83,192Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3∋%2 ΒΑ≅2ΦΓ3≅ 3 ?Α=?ΦΓ3≅ 3 2Α>ΦΓ3≅ 3 2ΑΒ;ΦΓ3≅ 3 2Α3ΧΦΓ3≅ 3 ∆Α=?ΦΓ3Χ 3

83+792,1:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%; ?Α3ΧΦΓ3Χ 3 2Α?≅ΦΓ3≅ ;ΦΓ3> =Α?;ΦΓ3≅ ?ΦΓ3> ?Α22ΦΓ3Χ 3 2Α2ΦΓ3≅ ≅ΦΓ3> ΧΑΧΧΦΓ3≅ ΒΦΓ3>

83+792,1:;,1<=+7<>+7<2?+7<2≅,1<?3∋%; ?Α==ΦΓ3≅ 2Α≅=ΦΓ3≅ 2Α2ΒΦΓ3≅ ?Α?ΧΦΓ3≅ 2Α∆ΒΦΓ3≅ 3 =Α≅>ΦΓ3Χ ΒΑ2ΒΦΓ3Χ =Α22ΦΓ3Χ ?ΑΧ>ΦΓ3≅ ;Α≅2ΦΓ3≅ 3

83+792Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3∋%2 ?Α2ΦΓ3Χ ≅Α;;ΦΓ3> ΒΑ2ΦΓ3≅ ;Α?=ΦΓ3> ?Α;≅ΦΓ3≅ 2Α≅;ΦΓ3Χ ?ΑΧΒΦΓ3Χ 2Α2ΦΓ3Χ ΒΑ;>ΦΓ3≅ ≅Α=ΦΓ3> ?Α=;ΦΓ3≅ ;Α?=ΦΓ3Χ

83+792,1:;,1<=+7<>,1<2?+7<2≅,1<?3∋%; ;Α;ΧΦΓ3Χ 3 2Α?ΦΓ3Χ >ΑΧ?ΦΓ3≅ ΒΑ;ΧΦΓ3Χ ≅Α∆;ΦΓ3Χ ;Α2?ΦΓ3Χ 3 2Α=2ΦΓ3Χ =Α>2ΦΓ3≅ ≅Α22ΦΓ3Χ >Α3=ΦΓ3Χ

83+792Ε5:;,1<=,1<>+7<2?,1<2≅+7<?3∋%? 3 3 2Α∆ΦΓ3≅ ?Α=?ΦΓ3≅ 2Α2ΒΦΓ3≅ ;Α=ΒΦΓ3≅ 3 3 ΒΑ?ΒΦΓ3≅ ;Α3?ΦΓ3≅ ?Α>ΦΓ3≅ ≅Α2ΧΦΓ3≅

83,192,1:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%? 3Α333332 ;Α3ΧΦΓ3Χ ΒΑ3;ΦΓ3≅ ΧΑ≅;ΦΓ3Χ 2Α;ΦΓ3≅ 2Α2;ΦΓ3≅ ;Α>ΧΦΓ3Χ =Α2ΒΦΓ3Χ ΒΑΧ;ΦΓ3≅ ΧΑ?ΧΦΓ3Χ ?Α2=ΦΓ3≅ 2Α3;ΦΓ3≅

83+792Ε5:;∋%2<=,1<>,1<2?+7<2≅+7<?3∋%? 3 ≅Α;;ΦΓ3> 3 ΧΑ=ΧΦΓ3≅ 2Α;2ΦΓ3≅ 2Α∆;ΦΓ3≅ 3 2Α32ΦΓ3Χ 3 2Α2>ΦΓ3= ;Α2∆ΦΓ3≅ ?Α≅∆ΦΓ3≅

83,192,1:;∋%2<=+7<>,1<2?,1<2≅,1<?3∋%? 3 3 2ΑΧ2ΦΓ3≅ 3 ≅Α2?ΦΓ3Χ >Α?;ΦΓ3≅ 3 3 ΒΑ2∆ΦΓ3≅ 3 2Α=ΦΓ3≅ 2Α≅=ΦΓ3=

83+792Ε5:;,1<=+7<>+7<2?,1<2≅,1<?3∋%2 2Α=ΧΦΓ3≅ ?Α≅ΧΦΓ3Χ 2ΑΧ≅ΦΓ3≅ ;Α==ΦΓ3Χ =Α??ΦΓ3≅ ;Α?=ΦΓ3> ∆Α∆;ΦΓ3Χ ΒΑ≅?ΦΓ3> 2Α?ΦΓ3≅ ≅ΑΧ2ΦΓ3Χ ΒΑΧ=ΦΓ3≅ ≅Α=ΦΓ3>

83+792,1:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%2 ;ΑΧ∆ΦΓ3≅ 3 ΒΑ;ΒΦΓ3≅ 2Α=ΦΓ3> 2Α∆2ΦΓ3≅ ;ΑΒ=ΦΓ3Χ ≅Α22ΦΓ3≅ 3 ΒΑ;2ΦΓ3≅ ;ΦΓ3> ?Α>≅ΦΓ3≅ ≅Α∆ΦΓ3Χ

83,192,1:;∋%2<=,1<>,1<2?+7<2≅,1<?3,1 3 3 ;Α2ΦΓ3≅ ?ΦΓ3> =Α;>ΦΓ3≅ 3 3 3 ΧΑ≅ΦΓ3≅ ΒΦΓ3> ∆Α2ΧΦΓ3≅ 3

83+792,1:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%? 2Α32ΦΓ3≅ 3 ∆Α;;ΦΓ3Χ ΧΑ∆2ΦΓ3≅ ∆Α≅ΦΓ3Χ 2Α≅ΦΓ3≅ ∆Α?2ΦΓ3Χ 3 2Α;;ΦΓ3≅ ∆ΑΒ≅ΦΓ3≅ 2Α;ΦΓ3≅ ?Α?≅ΦΓ3≅

83,192,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3,1 ∆Α>ΦΓ3Χ 3 >Α=?ΦΓ3≅ ?Α=ΦΓ3∆ ;Α;;ΦΓ3∆ 2ΦΓ3> 2ΑΧΦΓ3≅ 3 2Α?∆ΦΓ3= =ΦΓ3∆ >Α2≅ΦΓ3∆ 2ΑΒ2ΦΓ3>

83,192Ε5:;,1<=,1<>,1<2?+7<2≅+7<?3,1 2ΑΧΧΦΓ3Χ 3 2Α=ΧΦΓ3= 3 2ΑΒ?ΦΓ3Χ 3 2ΦΓ3Χ 3 ;Α>?ΦΓ3= 3 2Α>=ΦΓ3Χ 3

83,192Ε5:;∋%2<=+7<>+7<2?+7<2≅,1<?3∋%? 2Α2≅ΦΓ3≅ ∆Α≅ΧΦΓ3> ΧΑ;ΧΦΓ3Χ 3 2Α∆≅ΦΓ3≅ 2Α∆ΒΦΓ3= 2Α>≅ΦΓ3≅ 2Α≅ΧΦΓ3Χ 2Α=≅ΦΓ3≅ 3 ?Α;2ΦΓ3≅ ;Α>ΧΦΓ3=

83+792Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3∋%2 2Α;;ΦΓ3> 3 ;Α3?ΦΓ3Χ 3 2Α≅;ΦΓ3= 3 2Α=;ΦΓ3> 3 ΒΑ∆∆ΦΓ3Χ 3 ;Α∆?ΦΓ3= 3

83,192Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3∋%? 3 ;Α?2ΦΓ3= ≅Α≅ΧΦΓ3∆ 3 ;Α;;ΦΓ3∆ 2Α?≅ΦΓ3≅ 3 ?Α3∆ΦΓ3= 2Α≅;ΦΓ3> 3 =Α2≅ΦΓ3∆ 2Α==ΦΓ3≅

83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%2 2Α∆ΧΦΓ3Χ ≅Α>∆ΦΓ3≅ 2Α==ΦΓ3= 3 ?ΦΓ3Χ =Α=ΦΓ3> ;Α2=ΦΓ3Χ 2Α=>ΦΓ3≅ ;ΑΧ>ΦΓ3= 3 ∆Α3≅ΦΓ3> 2Α2ΦΓ3Χ

83+792,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3,1 3 3 ΧΑ∆;ΦΓ3≅ 2ΑΧ≅ΦΓ3= ;ΑΒ≅ΦΓ3≅ 3 3 3 2Α?;ΦΓ3= ;Α=;ΦΓ3= >ΑΒΧΦΓ3≅ 3

83+792,1:;,1<=+7<>,1<2?,1<2≅,1<?3∋%; 2Α≅ΦΓ3Χ 3 ?ΦΓ3> ;ΑΒ≅ΦΓ3= =ΦΓ3> 3 ?Α≅∆ΦΓ3Χ 3 ?Α2∆ΦΓ3> ≅ΑΧΦΓ3= ∆Α=2ΦΓ3> 3

83+792,1:;,1<=+7<>,1<2?,1<2≅+7<?3∋%; ΧΑ≅ΧΦΓ3> 3 2Α3?ΦΓ3Χ ?Α∆∆ΦΓ3= ΧΑ∆=ΦΓ3Χ ;Α∆2ΦΓ3≅ ΧΑ≅ΒΦΓ3> 3 2ΑΒ>ΦΓ3Χ ?Α;ΧΦΓ3= 2ΑΧ2ΦΓ3≅ ≅Α>ΒΦΓ3≅

83,192Ε5:;∋%2<=+7<>,1<2?+7<2≅+7<?3∋%? 3 =ΦΓ3= =ΦΓ3∆ ΧΑ;;ΦΓ3Χ 2Α≅ΧΦΓ3∆ 3 3 >Α≅=ΦΓ3= 2Α??ΦΓ3> 2ΑΒΧΦΓ3≅ ΒΑ3>ΦΓ3∆ 3

83+792,1:;,1<=,1<>+7<2?,1<2≅,1<?3∋%; ;Α;;ΦΓ3∆ ?Α∆ΦΓ3≅ 2Α≅ΧΦΓ3> ;Α>2ΦΓ3= 2Α?∆ΦΓ3≅ 3 =ΑΧΧΦΓ3∆ ΒΑ;ΒΦΓ3≅ 2Α?2ΦΓ3> ≅Α∆;ΦΓ3= ?Α∆>ΦΓ3≅ 3

83+792,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%; 2Α>>ΦΓ3≅ 3 ΒΑ2≅ΦΓ3≅ 2Α∆ΧΦΓ3= 2Α;≅ΦΓ3= 2ΦΓ3> ;Α?=ΦΓ3≅ 3 =Α∆2ΦΓ3≅ ?Α;ΧΦΓ3= 2Α∆>ΦΓ3= 2ΑΒ2ΦΓ3>

83,192,1:;,1<=,1<>,1<2?,1<2≅,1<?3∋%; ?Α>ΧΦΓ3Χ 3 2Α∆∆ΦΓ3= ;Α?=ΦΓ3≅ ?Α∆=ΦΓ3≅ 2Α2?ΦΓ3= 2Α>ΦΓ3Χ 3 ?Α>ΧΦΓ3= ≅Α=ΦΓ3≅ ;Α≅?ΦΓ3≅ 2ΑΒ≅ΦΓ3=

83+792,1:;,1<=+7<>+7<2?,1<2≅,1<?3∋%2 ∆Α;ΧΦΓ3≅ 3 >Α≅2ΦΓ3≅ 3 ?Α2ΦΓ3= 2ΦΓ3> >Α==ΦΓ3≅ 3 ≅Α≅ΧΦΓ3≅ 3 ΒΑ;≅ΦΓ3= ?ΦΓ3>

83,192,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%; 2Α?ΧΦΓ3= ?Α=≅ΦΓ3≅ ΒΑ∆ΦΓ3≅ ;Α2ΧΦΓ3≅ 2Α∆ΦΓ3= ;ΑΧ>ΦΓ3≅ ΒΑΧΒΦΓ3≅ ΒΑΒ?ΦΓ3≅ ΧΑ;ΧΦΓ3≅ =Α;∆ΦΓ3≅ 2Α?;ΦΓ3= ΧΑΒ≅ΦΓ3≅



83,192Ε5:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%? ?Α;;ΦΓ3> ≅Α>=ΦΓ3= ΧΑ=ΦΓ3> ;Α3ΒΦΓ3= 2Α∆;ΦΓ3Χ 2Α2;ΦΓ3Χ =ΑΧΧΦΓ3∆ ?ΑΒ≅ΦΓ3= 2Α==ΦΓ3Χ ;ΑΒΧΦΓ3= ?Α;=ΦΓ3Χ ?Α?=ΦΓ3Χ

83+792Ε5:;,1<=+7<>,1<2?+7<2≅,1<?3∋%; ≅Α≅ΧΦΓ3∆ 2Α=?ΦΓ3= 3 >Α2ΒΦΓ3= 3 3 2Α2=ΦΓ3> ?Α≅ΒΦΓ3= 3 3Α3332=2 3 3

83,192Ε5:;∋%2<=,1<>+7<2?+7<2≅+7<?3∋%? 3 3Α3332;≅ >Α;;ΦΓ3∆ ?Α?∆ΦΓ3= 2ΦΓ3> 3 3 3Α333??∆ ?Α3ΒΦΓ3> ?Α3?ΦΓ3= 2Α?≅ΦΓ3> 3

83+792,1:;,1<=+7<>+7<2?,1<2≅,1<?3,1 2ΦΓ3> 3Α33322≅ 2ΦΓ3> ;Α2ΦΓ3= 2Α;>ΦΓ3= 3 2ΑΧ;ΦΓ3> ?Α;ΦΓ3= 2Α≅ΧΦΓ3> ;Α=>ΦΓ3= ;Α;>ΦΓ3= 3

83+792,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%; ;Α=ΦΓ3≅ ΧΑ3>ΦΓ3≅ ΒΑ>?ΦΓ3= ;ΦΓ3= ?Α>>ΦΓ3= 2ΑΒ=ΦΓ3≅ =Α>ΦΓ3≅ >ΑΧΦΓ3≅ ≅ΑΧ2ΦΓ3= ?Α=∆ΦΓ3= ;ΑΒΒΦΓ3= ?ΑΧΒΦΓ3≅

83+792,1:;∋%2<=,1<>,1<2?,1<2≅,1<?3∋%2 ≅Α;;ΦΓ3> 3Α3332ΒΒ 2ΑΒΦΓ3≅ ?Α>;ΦΓ3= ?ΑΧΒΦΓ3= =Α≅=ΦΓ3≅ 2Α32ΦΓ3Χ 3Α3332?= 2Α?≅ΦΓ3≅ ?ΦΓ3= ?Α=ΧΦΓ3= ≅Α∆?ΦΓ3≅

83+792,1:;∋%2<=,1<>,1<2?,1<2≅+7<?3∋%2 ∆Α>2ΦΓ3≅ 3 ΒΑ>>ΦΓ3≅ 3 3Α3332?; 3 2ΑΧΦΓ3= 3 ΧΑΧ;ΦΓ3≅ 3 3Α333;3? 3

83,192Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3,1 3 3 3Α3332=; 3 3 3 3 3 3Α333;ΧΒ 3 3 3

83,192,1:;,1<=+7<>,1<2?,1<2≅+7<?3∋%? 3Α33322∆ =Α?ΧΦΓ3Χ ΒΑ∆ΒΦΓ3= ;Α?≅ΦΓ3= 2Α;>ΦΓ3= ;ΑΒ∆ΦΓ3= =Α≅ΧΦΓ3= ΒΑ>ΦΓ3Χ ;Α;>ΦΓ3= ΒΑΧΧΦΓ3= ;Α;ΧΦΓ3= =Α2?ΦΓ3=

83+792Ε5:;,1<=,1<>,1<2?,1<2≅+7<?3∋%2 2Α;2ΦΓ3= 3 >Α;ΧΦΓ3≅ ;Α3;ΦΓ3Χ 3Α3332Χ 3 ∆Α∆=ΦΓ3≅ 3 2Α∆?ΦΓ3= ≅Α3=ΦΓ3Χ 3Α333?Χ 3

83,192Ε5:;,1<=,1<>,1<2?+7<2≅,1<?3,1 3Α333; 3 3Α333?3Χ ?Α=ΦΓ3∆ ?Α;2ΦΓ3= 3 3Α333?≅; 3 3Α333?≅= =ΦΓ3∆ ;Α≅ΧΦΓ3= 3

83,192,1:;∋%2<=+7<>+7<2?,1<2≅,1<?3∋%? 3 3Α333∆22 ;Α;=ΦΓ3Χ 3 3 3 3 3Α333?∆; >Α?2ΦΓ3Χ 3 3 3

83,192Ε5:;,1<=+7<>+7<2?+7<2≅,1<?3∋%; 3 3Α333; 3 3Α333=; 2Α≅ΧΦΓ3∆ 3 3 3Α333ΒΒ= 3 3Α3323≅ ΒΑ3>ΦΓ3∆ 3

83+792,1:;,1<=+7<>,1<2?,1<2≅,1<?3,1 3Α33?2∆ 3Α33Χ?Β≅ 3Α332?>> 3Α332≅?; 3Α333≅2Χ 3Α333==≅ 3Α333>3= 3Α333;∆= 3Α332?= 3Α333ΒΒ> 3Α333=?≅ 3Α333;>;


